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PART - 1/ 9T - |
- CHILD DEVELOPMENT AND PEDAGOGY / dTct fadra a fngreIisal

Direction : Answer the following questions (Q. Nos. 1 to 30) by seleécting the correct/most approp” iate options.

T ; Pt F9 7 (3. @ear 1 9 30) & 3w 83 & frg wahaerd S7ga [ g

In progressive education children are perceived as :

1.
(1) Innocent and dependent
(2) Compliant and capable of only consuming knowledge
(3) Knowledgeable and meaning-makers
(4) Vulnerable and in need of protection
wrfasiter fren & sreeil =) forg aeg @ < @ 2
(1) WA SR Mfa
(2) STNERI 3R FIA FH H 399 F F garg
(3) FHaH® 3R 379 Y W FE T
(4) FHHR IR GRET F T |
2.  Feedback to the students in a classroom is most effective when :
(1) It assigns comparative ranks to the students. '
(2) It occurs during as well as after the learning activity.
(3) It focuses on what the child cannot do rather than what they can do.
(4) It centres around tests and exams at the end of the year.
BTl & foq el | gidfshan wa sifere werelt @it § ST |
(1) I8 ST HI JOTH 0 IS HI R |
(2) I% HIEA i Ifafary & SRH TR wwE of g R
(3) T TH A1 T A i R & P s w7 o e o g T o R weh €
(4) T8 & o7 H W R wan | Higd 2
3.  Assertion (A) : During adolescence the pressures to conform to gender expectations and follow
conventions of feminity or masculinity increases.

Gender and gender roles are determined biologically.

Reason (R) :

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).

((g-)) (A) is true but (R) is false.

(4) Both (A) and (R) are false. o :

feRe (A) v % ST Siet STiensl ¥ STTEY i I1 e hl WIUS H qrei A h
forg garE o S B |

FHROT (R) : et aiR SeY yfiard Sk w9 § feift #i o €

T fereheq 9 |

(1) (A)aﬂt(n)aq‘faﬁ%aﬂtm)ﬁmmﬁa@rm%u

2) (A)W(R)aﬁaﬁ%ﬁmm)ﬁ(maﬁwﬁm%n

(3) (A)F& & Wtk (R) T €
(4) (A) 3R (R) T 7o € |
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4.  Sunita, 3 12 year old girl, shows exceptional musical ability. Both her parents are accompli_shed
singers, and they send her for classes for voice training after school. Her capabilities are-most likely

to be the result of an interaction between : oy

(1) growth and maturation (2) nutrition and discipline

(3)  heredity and environment (4) geﬁd‘é'{‘ identity and genetic make-up

‘ O0) :
T, T 12 9 e, sty |l mr&ﬁ%n:ﬂﬁ; wre-foe, 3t & frgo e €, o & gfe
aﬁmanwaﬁaﬂﬁwwa:ﬁwmmmmﬁﬁm%%l it 3 =g apen Gonfera w9 o R

:

FRH & 37w w1 wftomy ¥ 2 [
() g iR R (@ fsiR s |
(3)  STRIERT S ST (4) TR v SR STeaify v

5.  Sensitive periods are thoge time periods during which certain ___ are especially important

for course of ‘normal’ development.

(1)  genetic predispositions (2) ethnic factors
(3) environmental factors (4) heg:éditary factors
@wawﬂagwwa@a%mam;ﬁ” T R e e ¥ R
Heyl Bt €1 4’;‘\3’ 0 e ,
(1) SfoqEs wReE (2) WG HRE
(3) v e (@) w%’ﬁ FH

6. In order to develop critical thinking among students a teacher s'houlx.;l‘ . )

-0y

(1)  ask only those questions which carry single answers.
(2) discourage the students from asking doubts and questions.

(3) give questions that involve inferences and explanationsf g : ;

(4) avoid questions which need inference and analysis.

Rt Sl foim ) fafe ) % g, R

(1) W@émﬁﬁmﬁﬂm@ésﬂi‘%

2) Wﬁﬁﬁﬁﬁw@%m%ﬁamm
i)

3) Qﬁméﬁaﬁqﬁaﬁﬁ@éaﬂ?mm@g@%%n

(4) t@mﬁﬁﬁmmﬁaﬁﬁéﬂaaﬂ?ﬁs?ﬁwaﬁmm%u

g L T 3 )
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A teacher asks herself - “How can I provide experiences that require students to classify different
yse-their classification schemes ?” Which intelligence

types of objects in the environment and anal
is she trying to promote in students ?
(1) Linguistic Intelligence (2) lﬁtér%personal Intelligence
(8) Naturalistic Intelligence (4) Bbdily- Kinesthetics Intelligence
T Tkt G W gt € - ' U ergve R wert e wadl ¥ o o w3 fafie w5

G W Tl B 3R STRT STHTOT F TR b1 Frgerav Y H eqeygsHar 212! 98 o ° fH

FFGT BT e 37 Y HY H @ &2 :
(1) T Figw (2)  efacafee e
(3) WHfs gfgw (4)  vIORE-TREEE gfgm

How does setting mastery goals impact a student’s motivation and views of ability ?
(1) It often implies enhanced intrinsic motivation and belief in the entity view of ability.
It often implies enhanced intrinsic motivation and belief in the incremental view of ability.

(2)
(3) It often implies enhanced extrinsic motivation and belief in the entity view of ability.
It often implies enhanced extrinsic motivation and belief in the incremental view of ability

(4)

TERA B HTT 3 weq Fuffa et 9 BT F SAEO i A R § ferer 4 wefed 8 € 2
(1) & /R e 3 feor ghesio § 581 g oTiaf seion iR fovams = i &

(2) % SRR A 3 geier e H SR € eiaf SR iR v ) wwidT &)

(3) T SRR Ao ¥ Feore ghespi # at g8 At e i forvara 1 <A ¥

(4) T SRR R ¥ ghgier e § 9@ g diet seon ok favar 1 gwt ¥

*

Rama is a teacher who is implementing Vygoté?j?f s theory in her classroom and she assigns her

students to work in groups to complete a challenging task. During the task, one student struggles
to understand a key concept. What would be-the most effective way for Rama to help this

student ?
(1) Provide the student with the answer to the problem so the group can move on.

(2) Encourage the student to try to solve the problem on her own.
(3) Assign a different task to the student that is better suited to her abilities.
Work through the problem with the student and providing guidance and feedback as needed

)
(4)
while involving other group members.

T1 U Ffer & S ariicen! % fagia i STaHT Ha H AR H T ¢ AR I8 T Aol i i g hiA
¥ foT o1 BT 1 Gl H W A & A g et 81 6 SO, T B Tk Heeqol Hehedl i

T % fore God hed §1 T % U 39 BT i TEE HA Hl T TS qLRT =T B 2

(1) O YU H IR JGH B dlMh TE T 57g T |

(2) BT F G B @ T F H A O, A Seited |

(3) ST ) T ST G S S At S 8

(4) BT % WY T T B F SR TE F I 1 A A G SAIIHATH AHIGUA AR

C (AT
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10.

11.

— Y - S

; ; i on
Assertion (A) : Teachers should encourage debates, discussions and collaborations among
students. () ‘

Reason (R) : Knowledge production is an inactive process and engagement in group activitie
hinders Meaningful learning.
Choose the correct option. ;

(1) Both (A) and (R) are trye anc‘lﬂ,"(?{) is the correct explanation of (A).

(2)  Both (A) and (R) are true buf(R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false,

(4)  Both (A) and (R) are false.

AR (A) : ma@faﬁﬁaﬁﬁf%aﬁm,waﬁwﬁvaﬁmﬁamwl

FMR): 5 ST 5 i wioen & 3R s et e srefpd oo 3 e
S|

TR fersheq o |

(1) (A) ¥R (R) 3 7 ¥ sic (a) 71 (R) 8 =2 w3

) (A)W(R)ﬁﬂﬁ%?fmm)ﬁ(maﬁm#ﬁm%n

(3) (A) ¥ & AR (R) e g, L

(4)  (A) ¥R (R) S TTorg

Change and stability in emotions, p"é_fsbnality and social relationships together constitute :
(1)  Personality development (2) Emotional development
(3)  Psychosocial development (4) Cognitive development

emmmmmmmww%mmmwmwwmﬁ?

(1) =fRE faey (2) WS fasm i
(3) T faewm 4) SIS faEr
12. Which of the following correctly describes “culturally responsive teaching’ to cater to diverse groups
of students ?
(i) Intentional (i) Adaptive (iii) Differentiated (iv) - Standardized
1) @) () (2) (), () (3) (), (i), (i) @) (@), @), (i), (iv)
mﬁ%ﬁﬁaa{ﬁﬁww%m'=ﬁ?ﬁmﬁﬁﬁq‘mmﬁmﬁm'waaavh
FAT &2 =
() e W) SIERE. ) ffw (v) T
M @) v) @ @G s @) ) ), @) @ @), (i), (i), @v)
P-IT W LS I
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: . ) finished product
13. Assertion (A) : Schools should function within frameworks which assess the P

and learning outcomes,
Reason (R) : Learning ig tightly gi;c(]ge11(ia] and hierarchical.
Choose the correct option, Q0
(1) Both (A) and (R) are true nndlz (R)lb the correct explanation of (A).
(2)  Both (A) and (R) are true butf(l{)fis not the correct explanation of (A)-
(3) (A)is true but (R) is false,
(4)  Both (A) and (R) are false.
ST (A) : TR P13 3 3 o el o ey S R S i v 3 A A AR
F
HNIT (R) : HET e AR W ST SR Terhi ¥
)
(1) (A) siF (R) 3 e # s () ) e
@) (a) 3 (R) 3 T ¥ i () 9, (R) T e T 1

=

() (A) WA (R) @R

=

B

B

4 A)IMER IR [

14. According to Lev Vygotsky what is the relationship between language and thought ?
(1) Language does not shape thought
(2) Thought shapes language
(3) Language and thought are independent of each other

(4) Language and thought are complex interrelated processes of development
S AR % ST S S FaR ¥ o e 7

(2) o= a9y e 27 ¥ 98]

3) waﬁzﬁww@@rw%l

) Waﬂtﬁwmﬁaﬁatﬂfﬁﬁqm%l

P-11 [T 6 I
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15.  Which of the following is a correctly matched pair ?
Criterion - referenced assessment : includes mastery of specific topics

1)

(2) Norm - references assessment : compares performance to that of peers

(3) Formative assessment : determining what the students can do before and after the class
involves paper - pencil tests as well as detailed accounts of non-

(4) Summative assessment :
written behaviours

ﬁﬂf&iﬁaﬁﬁﬁaﬁ?~wa‘ég&mw%?
(1) HASS-HH qeain : fafre fawei % Tera Wi &
(2) AFR-HET Georien : mfert & wael w qerT F S
(3) T FAFT : FE Fryifa HT 76 O19 Bl § Ued IR 91 § g H g §
(4) A AR : T - diferer Ter 3 arer-a IR-FAfEn e 3 g fEe e

——

Which of the following hinders the participation of students with visual impairment in

classroom ?
(1)  electronically formatted lecture transcriptions

(2) printed textbooks and notes
(3) raised-line drawings and maps
(4)  tactile models of graphic materials

ﬁmﬁf@aﬁ@wgﬁwﬁaﬁaﬁvﬁfaﬁmﬁwﬁméﬁﬁmmm%?
(1) SARIAF & § T srerm ghees

(2) e WSIgRE SR ey

(@) 3w g W fox oik o

(4) Tftheh AT & TA9HT qln

Which method did Lawrence Kohlberg used to study moral development of children ?

16.

(1)  Quantitative research approach
Posing moral dilemmas to children and analyzing responses

(2

®)
(4) Experimental method

TRH Higerar 3§ T4 & Jieh [ 1 TR T * foru g o &1 g4 fea 2
(1) HEAS Wy & fafy

(2) == % WA i g W@ SR fRaret # gueET 6

3) WA & ARM a=al T FeTcAFT HE

¢4) vEIfe fafy

Conducting observations of children during play

O T T
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18. uctivi :
Constructivist teaching leads to _ learning by students.

(1)  discovery (2)  meaningless (3) rote (4) recep e
TEE) freror faenfeliy =) arferm 1 @i o S B
(1) @-fd () awfge (3) e (4) TR

19.  Students struggling with dyslexia can be taught to read :

(1)  Through systematic phonological training.
(2) By providing higher grade level reading texts.
(3) By giving long and complex passages.

(4)  Through association method of conditioning.
9o e A S R BT B v femran S qeh &
(1) =afd == e % e )

(2) = TS ®R F 937 T Yo % |

(3) e 3R Sfeat Ty =)

(4) STIEHeH it AgeE fafy ¥ rem 9

20. Jean Piaget’s theory of cognitive development implicates that :
(1) Behaviour should be conditioned using rewards and punishments.
(2) Concepts should be taught in a sequence of complex to simple.
(3) Curriculum should be designed keeping children’s age-group and stage in mind.
(4) Focus of teaching should be the outcome of the activity instead of the process of thinking.

S forars % Hamreass faew &1 fagia a8 aan ¢ o

(1) IR %I g iR RERRI % Head ¥ Agehierd foham s =fev |

(2) STEURTIE i Siied § WA & %A H @ s e |

(3) TTGTEH B e % AR-HYE I =0 FH A H Tasht 4R fohan st e

(4)  oraror =1 o fafafy % wRoms W S =T 7 fh e i gihar |

P-IT [[f {0 dmarmmmeim i :
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21. You are a teacher who w

ants to help your students develop metacognitive skills. Which of the
following str

ategies is most likely to foster this type of thinking ?
(1)  Giving students marks ingte

(2)  Encouraging students to reflect on their own learning and thinking processes.
()  Providing students with summ

(4) Assigning homework

ad of qualitative feedback on their performance.

arised notes for assignments.

that requires memorization and recall.

o U 0 €SN ST O ) i S ff w0 e we e §1 frefated 3 9
1 A T WHR K el o) wrgren 23 a5 werd aifers Homer 32

(1) B 3T G W e whgfe % aem s 3

(2) BT ST W F gy o A ) Wi W AR H0 3 o st FE
(3) TorenfelH =1 el e 3 forg wwifem ew wem e

(4) T W e for g v ol AR w3 e A 3

22.  Which of the following statement is correct about “‘Autism’ ?
(1)  All autistic people have at least one exceptional skill.
(2) Autismisa neuro-developmental disorder.
(3) Autism is caused solely by environmental factors.
(4) Autism can be cured and improves with age.

frfafed § @ SF-w1 wom “waciivar’ & g § wd 32

(1) ToIlar ot Wt i & - J-n e fosi S 2
(2) Tl U A T foer §)

(3) TNl Sherel STATSRUTY HRah % RO Bl 21

(4) oA T ST T ST weher &; SU % WY T GUR o §

23. A key commonality in Piaget and Vygotsky’s theories is :
(1)  Their views of relationship between language and thought.
(2)  Focus on stage-like progression in children’s development.
(3) "~ Involvement and engagement of children in their own learning.
(4)  The role of culture in the cognitive processes.

T 3R arricant & fagidl 3 T yqE e g
(1) 9 SR fHER & g gedl & R ST fHa)
(2) <=3l & foem ¥ S-S5 wifd | e

(3) w=di @i wE HI o § Hewan 3k e |

(4) EIFIHS UishaAEil H§ H&hida St Y|

P11 EHWRIRINLRE ? :
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y rners and adapt
24.  Assertion (A) : Teachers should respect the individual differences among lea p

their teaching to cater to needs of all students.

: 1d be avoided
Reason (R) : Collaborations, group works and interactions among students shou ’

while teaching a class of diverse learners.

Choose the correct option.

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)-
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

AR (A) : mwﬁmwg—&f#sﬁamfmaﬁwwmaﬁqaﬂwﬁﬁaﬁﬁaﬁ
STALIHAIH 3 STER o1 e i GRS HEA et

FRT (R) : ﬁﬁaﬁaﬁﬁﬁag@gﬁq%ﬁaﬂﬁ@mw,mahmﬂ,wmaﬁ‘
ST ¥ == 1Ry |

& faswed 9+ |

(1) (A) 3R (R) ST W & iR (A) F (R) TE =@ HT T

(2) (A) 3R (R) I W ¥ Qe (A) ¥ (R) WE AT TE H@
() (A) & T AT (R) T R

(4)  (A) 3 (R) ST Ter €

25. Which learning strategy involves children teaching others what they have learned ?
(1) Conditioned learning (2) Rote learning
(3) Expository teaching (4) Reciprocal teaching

o STftrT =1 Yo & o=l g SRl Bt faar nfher € 9 Se W e ?

(1) eEeA s (2) TR HiE
3) rEHE e (4) TREEfn faeo
P-IT ([ 20 I
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26.  Assertion (A) : In Asian cultures which stress social harmony, expressions of ‘anger’ are
discouraged and ‘shame’ is encou{ag_(‘ed.

Reason (R) : Emotions are subjective and do notplay any role in learning.

Choose the correct option. _

(1)  Both (A) and (R) are true and (R) is the corre:ct'f;cji';'(planah'on of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false. r-

(4)  Both (4) and (R) are false.

AR (A) : URTAE Hepfidi & < AT T SR 3§ Ry 9 sfsta $ st
Tepan Simen & i ‘vt 1 e o s £

HIT (R) : Y Saferroees § <R Wit § B syfirt 78 P &

w& faweq 94|

(1) (A) 3 (R) 3 W ¥ s (A) #7 (R) T =T F0 21

(2) (A) 3 (R U 1 et () 1 (R) T oA e

(38) (A) W & AFA (R) e ¥ - |

27.  According to Jean Piaget how are children differen;-‘f;_r.cim adults ?
(1)  Children are dependent on adults while adulI; ére independent.
(2)  Adults are much more knowledgeable than children.
(3)  Children’s thinking is qualitatively different from that of adults.

(4)  Children’s thinking is quantitatively different from that of adults.
S o & STER o= qawnl § g ven i §2

(1) ﬁmmﬁhﬁﬁ%mﬁmwﬁaaﬁgh

(2) =l S GO S 9ga ATH A SN EL

(3) Tl S W TEh oS w9 Y A S E

(4) = 9 W IS w9 S oA § R a e

P11 (MINN R RL 1 g
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28.  Which of the following question promotes analytical thinking ?
(1) The capital city of India is
(2) How many States are there in India ?
(3) What is the total population of India ?
(4) What are the various causes of increase of population in Indi

= ® @ @ W WA faveivorars fea = sgEn qm 8200 )
(1) YRA W TS ¥ :
(2) 9Ra A fohe T E?

(3) WA W Bl SHEA feperdt § 2

(4) wRa A SHET gfg & fafir o E?

a?

29. Inclusive classrooms :
(1) Recognize that every child will learn at the same rat
(2) Is an educational program offered to cater to the nee
(8) Are meant to offer differentiated instructions as per individual d
(4) Aim to remove all kinds of differences among the children.
FHTE hema |
(1) HﬁWQII%QﬁFam@g}aﬁaﬂT@ﬁ;@Hﬁﬁ'@ml
(2) H ferd s Y ST ) U A S e O ST s
(3) oTem-aTen fimel ¥ srqaw fadfea fdw fg w2

(4) == ¥ o e FY fafir A1 g H B A <

e and at the same time.
ds of ‘special children’.
ifferences.

g1 fopen ST €

C .
30. Assertion (A) : Teachers should give lot of opportfﬁnities to children for experimentation and

discuss examples and non-examples..,
Reason (R) : A constructive way of dealing wi;fjh:;
counter examples. -
Choose the correct option. . » '
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

111
i 4

isconceptions in children is to provide

(4) Both (A) and (R) are false.

RIS (A) : el 1 sredl I AN 6 faw agd W’ TR 3 =t iR el St iR-Semeel |
<=1 S = e

FHAT (R) : ﬁﬁmmﬁ@ﬁ@wwwﬁmﬁmmwm%l

e fosheq 9|

) (A)aﬂx(R)ﬁaﬁ%aﬁI(A)ﬁ(R)aﬁmm%l

() (A) 3R (R) T WA & AR (A) F (R) T SHEA AT hLal T
(3) (A) W& ¥ Afer (R) ToTd €| '
(4) (A) 3R (R) S Terar &1 |

a1 -
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IMPORTANT | wevayof

Candidates have to do questions 31 t¢ 90 EITHER from Part - I (Mathematics and Science) OR from
Part - III (Social Studies / Social Science).
ot AT ) ar W .- 111 ( @rarferes 497 / araTfoT

gRiaTeal &t gvT 31 @90 T ar ey - 1 (
fagrT) @ &7 &1

PART ~-11 / Y7 - 1l
MATHEMATICS AND-SCIENCE / 7Ifore 9 fsm=
Direction : Answer the following questions by sélecting the correct/most appropriate options.
FrR9T : Freafeifeaa 5l @ S 37 3 forg ahae svge e
31. Perimeter of a quadrilateral ABCD is 120 cm. If BC=48 cm, CD=17 cm, AD=40 cm and
<A =£B=90° then area of quadrilateral ABCD:' (in cm?) is :

(1) 660 (2 690 (3) 720 (4) 750
feret Fq 4T ABCD 1 URET 120 cm #1 afE BC=48 em, CD =17 cm, AD =40 cm 79 LA = /B =90°

€, 1 9g4St ABCD %1 &%het (em?2 #) T

(1) 660 @ 690 3) 720 @ 750

fF ¥ "R
e & B

32. Which of the following statement is leas;f?gﬁpropriate regarding the proofs in mathematics ?
(1) It explains why a particular mathex,ilatical result must be true.

(2) It helps to reveal the connections’@nd provide insights into the underlying structure of
mathematics. . Y ; '

(3) It can help the students to Vaﬁdat@‘&hgir own reasoning.

(4)  Proofs are built on intuitive knowlgdge and not reasoning.
freferfin & & i 51 e o 3 et & T § e v 32
(1) 9% AT I © T Ta 9w ifereta oo wer 34t e =ifew |
(2) o el ISR A F Ao A1 & AR M T fafifed oo # siqche Yem T S
(4) T Frenfeial B oo T o A e R v
(4) 39afwl 1 fmfor siadsita 99 W Ear & o 7 | |
'SPACE FOR ROUGH WORK / T% #md & fo rg E

P-IT (AU
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T TR AR SRR R o N W R e SRR

.t a point O such that

33. PQRS is a parallelogram whose diagonals PR and QS intersect of (7y+5) (in cm) is :
OP = (x+7) cm, OQ= (x+y) cm, OR=20 cm and OS=16 cm. Then, value

1 21 (2) 23 ~ (3) 26 ) 25
PQRS T HIT FGY &, forry ferof PR a?hqswmﬁgomumaﬂj%’
OQ= (v +y) cm, OR=20 cm &1 OS=16 ¢ ¥, T (7y+5) F (com H) A1 @ 5

| gfg OP= (¥ +7) cm,

1 21 @ 23 3 (3) 26 @ 28
34. The value of 52 X3 +4 + /441 +7x3-;—5;32+8><12 is :

@ o @ s (3 15 @ 21

52x3+4+ /441 +7Xx3+5-32-8x12 &1 HF T :

1 o @ s @ 15 @ 2

3 ,
35. Arunis three years older than Varun. Eight years ago, gth of Arun’s age exceeded 5 th of Varun’'s

age by 6 years. If the present age of Varun is x years, then the value of x can be d
solving the equation :

etermined by

1) g(x —5) — g(x -8)=6 ”(2)‘C g(x -8) - g(x —-5) =6
O 6+9-2G-9=6 g Sw+I-@-8=6

3780, %0 § i 99 el B mﬁwﬁiﬁmﬁmw%ﬁ,maﬁm%%aﬁééaﬁﬁ%m
Ife S0 Y AAAH AT x T 8, T 1 F1 A T GHIH BT TA BT § T B HRel €

(1) -Z—(x—5)—%(x—8)=6 @) g(x—S)—%(x—5)=6
@) 2w+5-2x-8=6 @ 2925
SPACE FOR ROUGH WORK / T &4 & feTq siTg
P-I1 ([fACHAn e T E
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36. The domain of learning that deals with attitudes and values is known as :

(1) Knowledge domain (2) Cognitive domain
(3) Affective domain (4) Psychomotor domain
SIERTH 1 9% &7 S o STaer ug geit % W gafud § 99 3 w9 T ST S 2
(1) FEa (2) HIHETHS &4
(3) WErHE & (4) TA-TATHS &

7. The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base

radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1)  The new volume will be twice the original volume.
(2)  The new volume will be half the original volume.
(3) The new volume will be thrice the original volume.

(4) The new volume will be one-third the original volume.

ferslt wia geita S ot S iR SMUR a1 AW 9 cm 3R 6 cm F1 AT 3R fieen omeft = < W@
qeT S91E H 3 cm Bl ghg & WG, o 77 F F B9 59 S F AT ST HT AT FT § 2

(1) 7 A o 3TFa sl GIAT &l S |
(2) I STFTH HeT I HI ST &Y S |
3) T TG q TG B AT & S |

) T STIAA GO A 1 Th-eTs 8 S|

SPACE FOR ROUGH WORK / T% @14 & it s7Te

T 15 g I
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38.

39.

i hinking as per
& statements according to ascending levels of geomemcal th gasp

Arrange the followin
Van-Hiele’s theory of geometrical learning.
(a) Identification of properties of geometrical shapes
(b)  Classification of different shapes
(c)  Finding relationship between the properties of geometrical shapes
(d) Identification of geometrical shapes as they are
Choose the correct option :
(1) (), ®), (), (d) @ (@ ®), @ ©
(3 (@ (), ®) @ @ @ © ®) @
I &l & A AT % fagia & sar fefrad i w1 S | & STRIE Wl H
HIFTT |
(a) SHIfEE SAEITEl & T $T 959
(b) fafa=r sfadi &1 i
(c) AT &Apfadl & oii & =g G e
(d) SfHdTE SArpiadl #1, SH5 9 €, 36 9 § 9eaH
e fosheq g -
@ (@ ®) @), ©

(1) (@), (b), () (d)
3)  (d), (), (b) (a) #) @ () (b), (@)

In a pie chart, the marks obtained by a student in Mathematics, Science, Social Science, Hindi and

English are respectively represented by sectors of central angles 90°, 80°, 65°, 75° and 50°. ll’.' the
total marks obtained by the students were 540, then what is the difference of the marks obtained

by him/her in Mathematics and English ?
(1) 60 (2) 50 (3) 40 (4) 30
we g = #, Ferlt fereneff g v, famm, wmfs famm, fet @i Siiisit & wr Sichi 1 e 90°, 80°,
65°, 75° 3R 50° & F=ita WIvil a1t o @i gr1 Frefya fofan @1 A =4 foremedi gr0 9Tt 1 &1 540

&, A STF gRI MO iR i H W fehi HT AR FNE 2
4) 30

(1) 60 2 50 (3) 40

L [WRNERnne

SPACE FOR ROUGH WORK / T& &4 & ot srg
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40.

41.

1 e a i e

91118113

¥y Uk[LI l.) mar Stdi( 1 0or ( <l l 4 (@) SN

Il
5t V e v uy ), as } or N L T, w I]lLll l ll" l( l"()‘\ ][lt 1(} 1CS l N 3
1111(1(‘1 I‘lllll’lber b\'o‘l’@lll i

(1)  Complex Numbers (2)  Fractions

(3)  Exponents and Powers (4)  Square roots and cube roots

%EERT; SR, S Weift wR W, e yoneh 3 shk, Frfafen o 4 #m-8 g afmfaa @
TCE? |

(1) wfwg e 2 =
(3) @i IR U () a‘:’fq\aaﬂzw

Which of the following statement is NOT correct 'Witli"respect to Rubrics as a tool of assessment ?
(1)  Rubrics has a fixed Scale.

(2) Rubrics has a list of characteristics describing performance for each point on the scale.

(3)  Rubrics consist of a clear performance target for students.

(4)  Rubrics make evaluation more subjective.

ﬁwﬁ@aﬁ@ﬁ?mmmi@?w%ﬁim*mw“ﬁ%?

(1) =i 1 T e S o 3 A

(2). I 3 T R A ot e o o e et o e 2 3
3) Wﬁﬁmf%%mwwmhmamz%;*
(4) o e F AfuE A e

The number of faces (F), edges (E) and vertices V) of a polyhedron are 7, 15 and x, respectively.
Then, the value of (2F +3E —4x) is :

1) 20 2) 19 3) 18 4 17
foret Tgwer! & e (F), BRRT () iR it (V) 1 Semt o 7,15 3R x €1 T, (2F + 3E —4x)

FHAR: .
(1) 20 @) 19 () 18" @) 17

SPACE FOR ROUGH WORK /3% &% & fott svrg
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If (2x+5y)2—5(2x +5y) — 14 = (2x.+5y +p)(2x + 5y+q), then the value of (p+9 is :

=14 @ 9

43,
(CON

1 7 (2)
afg (2x +5y)2— 5(2x +5y) — 14 %}(Q:'r-i-S‘l/er)(Zx +5y-+q) & T (p+q) AT &

1 7 (2) $ia @ 9 (4) -5

and the two interior angles O formed on the

Two parallel lines are intersected by a transversal oy 1
the value of (4x+6°) 15 :

44.
same side of the transversal are (2x+15°) and (3x—20°). Then,
1) 154° 2) 150° (3) 148° (4) 146°

(2x+15°) 3R (3xr—20°) ¥ Ty (4x+6°) F1 WA R :

|

(1) 154° 2) 1507 (3) 148° (4) 146°
.
45. The sum of the largest and sn%g—llgst fractions among -g-, 22, g- and 2% is :

9 37 7 39

= 2— 2— 2—

M 3 @ “g0 @) 35 @ g

=i ;, 22, 3 sk 2% ¥ ge < SiR T B ol AT

9 37 7 39
ail A 2 2—
(1) 2 35 (2) :4;;1 (3) 35 (4) 40

18

P10 [T meem

@ Scanned with OKEN Scanner



46.  Which of the following does not imply the meaning of assessment ?

(1) Itis evaluation. ':

(2) 1t helps to label the Students. '—

(3) It helps to diagnose individual differences. ——

(1) 7 qeaisa T o
(2) = fernferl =1 Tmifha w5y 4 werm o g

(3)

(4)

47. Which of the followmg 1s NOT an indicator of creahwty m Mathemaucs ?
(1) Students use convergent thinking in different contexts
(2)  Students are able to think flexibly. _A_,u
(3) Students use multiple and alternate problem sol?iﬁfgfstrategies. ,

(4)  Students can pose questions.
ﬁmﬁf@aﬁﬁwvﬁmﬁmmmdmwﬁ%?

(1) feeneft fafom= weul & sifvrart foam =1 swim =0 3

(2) foreneff o=l W= § gam §) Te) |

@) ﬁmﬁﬁﬁuﬁ%mwwﬁmﬁﬁmwﬂnm&%

(4) Toeneff uv wga W = T s
SPACE FOR ROUGH WORK /7% &% & feTu wig

a3

"
!

,..,.
I,
"(\ll\

P-IT I mn e g = ‘ I
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If x is the least number which must be added to 955 to make it a perfect square, then value of 3x + 2

48.
is equal to :
(1) 20 () 14 @ 11 4) 5
955 3 ) T STl x Al T W &, S L o o S, ax 42 A A
(1) 20 (2) 14 (3) 1‘1 (4) 5
49. How many natural numbers between 1 and 500 ail;é‘»divisible by each of the numbers 3, 5 and 7 ?
1 3 2 4 3) ““ 4) 6
1 3ie 500 3 o A Reee W W & < wemed 3, 5 9K 7 # A vk @ foe €2
(1 3 (2) 4 @ 5 (4) 6
50. According to National Curriculum Framework 2005 whigh of the following process is least

important in mathematics ?

(1) Solving day to day problems.

Understanding when and how a mathemati;c_%_LItEChnique is to be used.

(2) e b
(3) Finding short-cuts in mathematics. hat
(4) Generalizing a mathematical formula. E; -
[ )
2 Tt wiRa e e e ©
L

feor wfafes ot GuERT 1 THIYM FHT

(1)
) Wmﬁnﬁrﬁﬁwmﬁmmmﬁn%@ﬁwmm%l
3) nﬁmﬁ‘mﬁm@wn ,
(@) O T AR £
SPACE FOR ROUGH WORK / T &Td & fog g

uwu r
.

v
l

!|| "'.Illl;z
ol
'm\ll ‘l‘

llu-u‘
It
1
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51.

52.

53.

M is a point on side A \

. B of a triangle ABC such that AM=BM=CM. If angles A and B are
rlespech\:ely X and 70° then the value of (3x+25°) is equal to :
1 70 (2) 8s5° @) 100° 4 115°
ol 951 ABC %1 45T AB R M fofg 50 W feord & 75 AM=BM=CM 31 fa 11 A SiRB
W:x3ﬂ'{70°%,?ﬁ(3x+25°)aﬂqma(m%- |
(1) 70° (2): .85° LD 3) 100° 4) 115°

A sum invested at 10% p.a. for 2 yé;}%gibecomes % 3,267, when the interest is compounded annually.

What will be the simple interest og_z the same sum at the same rate in 2% years ?

(1) 625 2 ?650_———;;; () T 675 4) 700
10% mﬁ%ﬂmﬁaﬂﬁﬁ@@zaﬁﬁmzwéaﬁ%mmaﬁaﬁvﬁﬁam%l E2sl]

Tfr T I T H 2% o 3 e eror = A2

(1) %625 2) T 650 3) T 675 4) T 700

D is a point on side AB of a AABC such that CD is the bisector of Z/ACB. If ZA=50° and £B=70
then ZADC is equal to : ]

(1 30° (2) 500 -~ @) 70° 4) 100°

ot F1S1 ABC % 4T AB W fesq D o foig 59 WK i CD, %0 ACB 1 TS §1 A<
ZA=50° 3R £B=70° ®, § ZADC aUeR & :

(1  30° ) 50° 3) 70° 4) 100°

Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.

54.
The difference of the mean and the range of the data is :
(1) 4.5 @) 5.0 @) 5.5 @) 6.0
forelt e % o TRl g WIw 3% 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 AR 35 €|
(1) 4.5 ) 5.0 3) 5.5 4) 6.0

1T IR

SPACE FOR ROUGH WORK / T @t & fetq stmTe

/

|
" l"mnm

‘I

|
““l" |l“lm
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e cost price. If he sells all

55. A trader buys 12 fans for ¥ 24,000. He*marks each fan at 25% above tI.1 : -
fans by giving 10% discount on the gnalked price, then his overall profit (in%) is :
(1) 2700 (2) 3000 T (3 3200 (4) 3500
T AR 12 98 T 24,000 ¥ witea %;r ag TR T ) I FAIE § 25% AE T Siferd T 2
afE I Tt 9@l B 10% e a4 qa $, o ot et SHH! T (TH) T
(1) 2700 (2) 3000 ¢ (3) 3200 (4) 3500
a—b+c? —(a—b—)?
56. ( )b — ; ) is equal to :
(1) b-c (@ c-a £%2 (3) —4c 4) 2
a—b+c)? —(a—b—c)>? <~
( ) YV R e
b—a L
(1) b-c @ @ —ic @) 2

57. Area of a right triangle is 240 cm?. If its one side other than the hypotenuse is 30 cm, then perimeter

(in cm) of the triangle is :

(1) 80 2 84 (3) 92 (4) 100
ot TeRTor BryS 1 &R 240 ¢ ; Ife i % faftad SHHt Th 41 30 em _?hét‘rlﬁlgam
TfEd (emH) §: S |
(1) 80 (2 84 __1: 3) 92 @ 100 7
SPACE FOR ROUGH WORK / T %t & fort wrrg
P-IT [Emmmm 22 I
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58.

59.

RS I L S ——

A teacher distri
tributes diff
$em to measure and t.=.1bu‘i;:l ihtypes = t_riangle shaped paper cuttings to the learners and tells
e result in each case. e angles in order to find the sum of angles. He tells them to note

This method of teaching is an example of
(1) Discovery method |
(3) Deductive method 22) Teachsr centered approach
. 4)  Analytical a ch
w foe el 1 faf 35 i
T HHR F ISR FFTS1 1 ot foafta s 3 @it o= hon =6t 4 9

T & T i 1 R il
Fere 1l 1 T e ofeg e 3 forw el § 1 e S e w4 oo e w0

!l

foreqor =t g% fafy
1) @ fafy
(3) frmArAs fafy
Which of the following is NOT.true ?
(1) 3+4 ><.5 is not a mathematical expression
(2) Operations .of multiplication can be done on mathematical expressions
(3) The expression (x2+10x +25) cannot be simplified further
4) The val f i i i i i
(4) equaﬁoge of the variable in an equation w1:1§hsausfy the equation is called a solution of the
frefafaa 4 & #F @1 9 7§ 32 =
(1) 3+4x5 Th TR i 78 2 N

(2) T T s W o A
(3) T (124 10x+25) T 3R Afers W T R S ww

(4) GO A =R 1 WA S W F A H €, TR e Rl ¢

sum of the LCM and HCF 'o\f these

§ B
% d o4

The ratio of two numbers is 3 : 7 and their LCM 1; 630. Then,

60.
numbers is :
(1) 30 2) 300 ~ (3) 600 (4) 660
an‘@mﬁmmsﬁ%meCM%w% 4, 3w % LCM i HCF %1 4m % -
(1) 30 (2) 300 (3) 600 4) 660
- SPACE FOR ROUGH WORK7 % i & fl S8
—— o 23
O 111 HH TR T

=

@ Scanned with OKEN Scanner



Direction : Answer the following questions by selecting the correct/most appropriate op s l

Frae - Wﬁﬂﬁ%mﬁ%@ﬁﬁmﬁa@%@ﬁ/

61. (A) Metal oxides are basic in nature. e
(B) Air expands on heating. =
(C©) Lime water turns milky on passing C'1rbondxo~<1de
(D) Sodium hydroxide and hydrochloric acid. neutralise each other.
If observation is represented by O and mference by I, which of the following statem ents is correct ?
(1) O-CD;I-A,B (O)OBCIAD
3 O-CI-ABD (4) =6<A,B;I-B,C

(A) UIg-ATFES TPl | amaE g €1 —

(B) arg TH BH W Ferdt & {3
(© Wgﬁmm(mm)aﬂﬁmiﬁmwgﬁm@m%l

(D) mm@‘z@mm@@aﬁmmaﬁ%l
WWOWW%WIWW(W)%aﬁmﬁf@aﬁ@ﬁﬂ—mwnﬁ%?
(1) O-CD;I-AB (2) O-B,GI-AD

B) O-CI-ABD (4) O-AB;I-BC

62. Which of the following is not a feature of aItemate conceptions in science ?

(1) Ideas are stable.

(2) Ideas are resistant to change.
(3) Ideas are developed from observable features

(4) Ideas do not demonstrate cause and effect reasoning.

ﬁ%@n@mm%nw@m@ﬁﬁ%ﬁ%’

1) fa=m fer @a € %
(2) forem ufted= wfad @a € o
3) ﬁ?ﬂmﬁgﬁﬁmaﬂﬁﬁmﬁﬁf
(@) faeEr, @ 3iR wE @ i wefdia @ e

63. Read the statements given below
Assertion (A) : It is recommended that

not vice-versa.
Reason (R) : Dilution of acid is a thhly exathermic reaction.
(1) Both (A) and (R) are true and (R) is correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not correct explanation of (A).

(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
ﬁmﬁf@amﬁvﬁqmvﬁwmwm

TR (A) agajsrﬁm%ﬁﬁmmagmaﬁaqvumwammﬁqafﬁmnW|

T (R) : STt 1 e () FAGH T S A 2
(1) (A) 3R (R) S T E 9 (R), (A) FI HELAESAE

@) (A) sk (R) 3 T E T (R), (A) F T T T &

(3) (A) W& T WY (R) T © |

(4)  (4) 3R (R) I T B |

P QYT 2

and choose the correct option :
acid should be added to water for diluting the acid and

G Scanned with OKEN Scanner



od. head t?‘e statements given below and choose the correct option :
Assertion (A) : The rate of breathing in aquatic animals is slower than land animals. _
Reason (R) : P 111 ?Senlce of large amounts of dissolved oxygen affects rate of breathing of aquatic
animals,
(1) Both (A) and (R) are true and (R) is correct-explanation of (A).
(2) BOtb (A) and (R) are true but (R) is not corfect explanation of (A).
(3) (A) is true but (R) is false. ol
(4)  Both (A) and (R) are fa]se, L
Fretfafad seri 1 e o ad s @ AT FHifeT
afeRer (A) : - *Te VTR 5t qorn & Sreftar Worl =61 vereet o€ Hieh 2
T (R) : LR g sfferitoTt oY Sel i Seft MR 3 vaee a1 g H ¥
(1) (4) I (R) ?ﬁm W& T e (R), (A) F TR e ¥
(2) (A) 3R (R) TF T ¥ g (R), (A) FY T T
(3) (A) T E TG (R) T
(4) (A) 3R (R) S Terq
65. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Reason (R) : Sound waves after striking a curved surface get reflected in all directions.
(1) Both (A) and (R) are true and (R) is correct explanation for (A).
(2) ~ Both (A) and (R) are true but (R) is not correct explanation for (A).
(3)  (A) is true but (R) is false. » 3
(4)  Both (A) and (R) are false. g
Afwe (A): a9 e AR HiTd FHRIE el B [Ia: afthd B E
e (R): T Afshd Wae | hT & avaeatt o wel feansl § wratia & s ¥
(1) (A) 3R (R) F w& € 7o (R), (A) Hﬁam ?
(2) (A) ¥R (R) 3 T & e (R), (A) R T
(3) (A) W& & G (R) T & L
4) (A) 3R (R) <M e ¥
66.  Which of the following is/are true regarding scientific investigations ?
(a) Results are not influenced by procedure.
(b)  Social context may influence conclusions in any investigation.
() Data and evidence are same. g
(d) There is no universal scientific method. % * &
(1) (a) and (b) (2) (band(d) B (a) and (o) (4) (9 and (d)
frafafas § @ =@ /4 S3f= STTEHM/ ST o § w8 2/ 2
(a) oRom frm ey gy @ da €1 O
(b) ot ST sraww § e wed g T €
(c) 3T IR T (FHI01) T B & | =
(@) A i (S St o e
(1) (a) W () 2 () (d) (8 (a) 3R (c) @) (9 =R
o LR TR TTTTE P
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67. Read the statements given below and choose the‘é.(‘)»lx"‘rccl‘ options :
Assertion (A) : The filament of an incandescent bulb is made up of tungsten
Reason (R) : Tungsten has low resistance and_high melting point.
(1)  Both (A) and (R) are true and (R) is correat explanation of (A).
(2)  Both (A) and (R) are true but (R) is not correét explanation of (A).
3)  (A)is true and (R) is false.
(4) Both (A) and (R) are false.
frefefea el i ufew siiv agt s e i
PUwT (A): U QYT woat 1 g (7)) ST i o1 Bl ¢ |

T (R) : T 1 e gy T 5 el el ¢ |
(1) (A) 3R (R) 39 W&t € @ (R), (A) T G w70
(2) (A) 3R (R) T T § TG (R), (A) F W AN T

(3) (A) W&t § 3R (R) T T B
@) (A) 3R (R) 3 T ¥

in a plastic bottle. The bottle is filled

68. Three identical holes are punched at different levels—f(:heights)
flow of water from the

with water. Which of the following statements_is. true regarding the

‘holes ? £:%
(a) Water from lowest hole comes out with gr;t;st force

(b) Water from highest hole comes out with greatest force

(c) Water from all holes comes out with equal force

(d) Water from lowest hole falls at maximum distance
Water from highest hole falls at maximumdistance

(e) i

() Water from all holes falls at same distance;:___g
1) ©ad® () @ad@E  EO-@adE @
o e i Se & - Wl () REHed (THET) i 9T fRT | Siael &1 T | W
et e 1 et @ S o 99 W U F () e % R A T ¥ 2 ;

(a) TreTam o5 § U sfshad s o WY SRt S
(b) W@E@Wﬁwaﬁéﬁmuwaﬁﬂ:
© i G e AR

(d) e 8e @ it stfierad g0 ® fim

(e) IoIW BT § yr Sifereham g W AW

() B B | et g g0 W R

M @O @ @IWE @) b3

(a) and (d)

o

!

!

4) (a) I (d)

2@ 26
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70.

71.

(1) Openl Si.r] l 1 -

(3) closed, sif elecjculahon (2) open, double circulation

Frfafas o ge ciratation (4) closed, double circulation
S 'aqﬁﬂ?mwna}aamaﬁrmma

(1) fa3q, wwa H=r oD, _

(3) FHgd, T = @ :- R

A class VII teach :—~
plants and an?;;;,p lmﬁ;ldenﬁf}’ alternat e;fioncephons of students in the topic ‘Adaptations in
ch of the following: sets of strategies is best suited for this purpose ¢ ?

f

%
m(]l

™

"

(1) Drawings, checklist, interview
(2) Pc‘)rtfoho, group discussion, diagnostic questionnaire
(3) Diagnostic questionnaire, interview, drawings
(4) Project, checklist, drawings
) RPN —
HAl V;_:‘l;??ﬁl%‘ ey &R Sa-Sgsi | Wﬁ"ﬁwmﬁaﬁ&iaﬁmmmwmaﬁ
;?%ﬂff? ATSH] =TT 2 | mm%mﬁﬂﬁf@am%wﬁﬁﬁ?—mwﬁ%mﬁ
(1) srrE (fasiF), Sig-g=, S - |
(2) ARwIfas (veE), angfes afE, ﬁz@;am?ﬁ
- ) - H%".J
) e weEEE, meareRr, san (fE) -
) WS (afer, sit-wgeh, s ()

Which of the following is not caused due to e(rf??ssive use of fertilizer and pesticides ?
(2) Nitrification

3
(4

(1)  Soil erosion
(3) Eutrophication (4) Bio-magnification
Wﬁﬁmmmm%mﬁwﬁmﬁﬁﬁqmwﬁM%?
(1) T A 2) qrg;m
(3) I (@ = E
An odometer In a car measures : 3_:,
(1) distance travelled by the car (2) £WMwm speed of the car
(3) average speed of the car (4) gg:a,;s_geleratlon of the car
1) SREWEARTEI ¥y @ﬂmaﬁ(ﬂﬁt)
(3) mﬁmm(nﬁ) @) FEHE (wifaad)

27
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73,

75.

Which of the following is true regarding scientific laws ?

(1) They describe relationships between observable phenomena.
(2) They are formed from scientific theories.

(3) They can’t be challenged.

(4)  They provide reasoning for physical phénomena.
Frefafag § @ St Frem & an o wi-m a@e?

(1) 9 srehemiiel TReell & wen sisdl oh1 0T R F |

@) A dAmfre fagidl 9 & T
(3) S gt T < S wehd! ¥
(4) 3 siifires TR ¥ for ol (Frem) &M @ ¥

Which of the following statements is/are true ?

(a) Self pollination takes place only in bisexual flowers.
(b) Bisexual flowers can pollinate both by self and cross pollination.

(1) (a) is true and (b} is false. (2) (a) is false and (b) is true.
(3) Both (a) and (b) are false. (4) -;Z}Eth (a) and (b) are true.

freafafed A $F /4 A TE © 2 =
(o) T S et gt () e 7

b) ol g (), O R S S e i T €
(1) () T & SR (b) o & @) __@W%Sﬂ’((b T B
(6) (a) 3R (b) S T T ()"(ajaﬂ?(b)a‘m‘mé%l

Which of the following activities is best suited to develop inductive reasoning ?

(1) asking students to state laws of reflection
(2) asking students to measure angle of reflection for various cases of angle of incidence in a

plane mirror

n

(3) verify laws of reflection experlmentall "—:

(4) solve numerical problems based on law of-reflecnon

frefataa § § SF- nfafafy mﬁﬁq%mﬁww%7

1) Wﬁﬁwraﬁa%ﬁmaﬁﬁﬁ;mm
) foafiE 3 guaer gdor & S9aH- W%WW%WW—WW%WW

(3) mmﬁmtﬁaﬁﬁwﬁﬁ
(4) W*mﬂmaﬂmﬁamm( ) et g H

]I ,nf‘

ey T 28
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76.

77.

78.

Two sperms of
a dl .
(1)  identical man fuse with two eggs of a woman. The twins formed are
3 . ) } (2) fraternal
) ay be identical or fraternal (4) always conjoint

w%aﬁmw%?ﬂ@(m)%maﬁaﬁ%l A AT SEA B B

1 &g
(3 ) () u:;.:msﬂu
@) wEwsEm AR TR E (@) v

Which of the followm
g statement

B leeonssrses groutabymy :rn s is/are lTuP;reg'xrdmg Rainwater harvesting ?

(b) It reduces local ﬂoodmg, :_;

(c) It creates drainage problems.

(d) It can be used for irrigation of crops. '

1 , (b),

1 @ <ﬁ) (©) 2 (a), () @ @3 @ b, @ O @D
frfafad § @ S 91/ Fuq qui-se SRe0 % R § 9 8/E? '
(a) T Y-STcT 1 HIET HLal B | =
(b) TE TFT AT FHi HA HL ¢ |
() agaaﬁmmua%ﬁmaﬁﬁwa@%l |

(d) mwmﬁmﬁﬁmm‘“m%n .
(@), (b), (d) 4 (®)© @

G @O0 @ @@ =0

!
[
:

Wiy

ﬂlm

11

1

n“" '

ﬂ““

Discussion on socio-scientific issues in classhelps in

developing argumentative skills in learners

(a)
(b) developing multiple perspectives on an 1SSu€
(c) encouraging citizen science activities
(d) appreciating the role of society in development of science
(1) (b)and (0) @ (@ band(©
(3) (0 and (d) (&) ~D), (@ and (@
et & SRR AR HEE R ECET e R
(a) el H i e R |

fasm @ mﬁr@r

) Tl T T g

) mmﬁwuﬁnﬁrﬁfaﬁﬁﬁﬁﬁmﬁ

(d) e ¥ forere & W qu@ﬁ@ﬁwmﬁﬁ
)= @), () TR ()

1) (3RO
@) (), (© ¥R

3) (o 3R (d)
29

.11 [

——
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79.

80.

81.

Which of the following illustrates ‘science as inquiry” ?

(1) Classify the given plants into herbs, ehrubs and trees

(2) Explore factors which affect the rate of gummqllon in gram seeds
(3) List five uses of coconut tree ‘

(4) Observe the types of venation in vauous lenves

Frafafas § @ @ @S- q@‘maﬁ'ﬂ‘z’mq 'y Farfra e & 2

(1) e g wreel () @ awn, wf‘sthqaq&ﬁﬁwﬁmmm

(2) T 3 sl B Spor Y G W WA HT A HRT B S BT
(3) iftae & ¥ (ga) & o ST giees F

(4) fafiry ol & Rerfam=ma & Wehrl &1 STerelish Ll

A gender responsive pedagogy in science entails.
(a) Use of gender sensitive language
(b) Engaging students in examining stereotypes

(c) Making gender based groups ;_h [

(d) Using differentiated instruction and assessment

(1) (a), (b) and (c) Za) (c) and (d)
(3) (a) and (b) (4)g_:~=?ﬂgc) and (d)

o & FofT (Se0) TR TRrermes STafe s @ -

(a) foim Heifid (SeR) HaEmwie o & STHEL

(b) foas uRoTel w1 wire,/ W w0 F frepfil w1 s w1
() feim (Sfex) smurfia HYE S b

(@) faddipa Fw Td seher & FErT H

1) (@) () 3R () @ (@) (3@
(3) (a) 3R (b) ) (c) 3R (d)

“"‘h.
41;.“

il

&

-&.:“u..

Read the followmg statements and choose-the:correct option :
S1 - Photosynthesis is endothermic reaction.. —
S2 - Respiration is exothermic reaction. s
(1) Both S1 and S2 are true.

|lﬁu

f=]§oth S1 and S2 are false.
(3) Slistrue and S2 is false. 4)" 1 is false and S2 is true.
ﬁ%ﬁuﬁm’faﬁqﬁqaﬂwﬁmwwaﬁi@:

S1 - WehTYT Wyero STt PRI Rl L5

S2 - Yo Seat stffsRan €

(1) S13fRs2 i wel €| (2) S1 3R 52 FFi e B
, (3) S1 W& T RS2 e B (4) S1 7 § iR 52 WRl R
11 (I 30
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82.

Indicator
Turmeric
China rose
Phenolphthalein
Methyl orange

[ Colow o

Followin
g table depict ' .
picts colour changes in acids and bases when various indicators are added :

olour change in acids

Colour change in bases

No change
Dark Pink
&

D

&, BT D respectively are :
reddish brown, green, colourless,_
yellow, green, Orange, colourless
reddish brown, pink, orange, colotitless
yellow, orange, pink, colourless | ==

1)
(2)
&)
(4)

A

B
Pink
Pink

orange

frferfad aroft fafim gemi 3 st Sreret ok a3 2 9 a1 wiad 3 faf o 3

qu®

AFA | g4 a1t
1 ufeEdA

| | 7 91T O
qRads

il
TS TS
EACICESIRE]
Afdrer- 3T

FHIE qitad T
M ¢
D

I
i

3 =

P
1,

11

A

B
T
et

A, B,C, DA & :
(1)
(2)
(3)
(4)

83.
(@)
(b)
(c)

(1) (a) only

SqTeTT T {1 Fel R €
<rer vt i IFA W
sttt g N
3Tg-9rg & gHE T

(a)
(b)
(c)
(1)

11 (NN

Fad (a)

T Y1, &, TR, aﬁﬁr(wﬁ%
e, &, SR (), TR
T T, TS, aqﬁ:sr(mvﬁ) m‘éﬁ

oy
V‘ e
]

1
||
! {ut} N
R

i
U]

\‘"

d

The colour of flame depends on:
Nature of combustible substance

Oxygen supply
Temperature of the surroundmg

1 w0

g
I'hml‘

(2) (b)only

113

.
-4

|
I

]

\\“ﬁ

l[ nnp

f

Fad (b)

[T

(2)

)

At
I,
iy

(3) (a)and (b) (4) (a) and ()

B @B @ @IRE

(%)
-
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. ds on the earth ?
84.  Which of the following factors are responsible for generation and flow of Wit
(a) Uneven heating of the earth
(b)  Uneven heating of the oceans

(c) Distance between earth and sun

(d) Gravitational force on the earth - |
(1) only (a) 2 (a)and (¢) >(3) (a) and (b) @ @axdd
mﬁ@ﬁﬁmgwwmﬁmmwﬁmm@%7
@) g S (afrt) o
(b) HEEIRI N Ay (vfad) qo
() gt iR T % siw %t g
(d) g R TEATRY Ty
(a) 3R (b) 4) (a) 3 (d)

(1) F (a) (2 (a) (o)

The atomic number of A is 13 and the atem;c number of B is 17. The chemical formula of the

85.
compound formed from A and B could be :
(1) A,;B (2) AB, @) AB, (4) AB
A I THII-HHTF 13 %HWBWW m """ 731 A 3R B ¥ fiftfa Diftter ot I 8 A
(1) AP @ as . I 4) AB
86. Which of the following statement is not true regarding conduction of heat ?

(1) Conduction is faster in solids than liquids.

(2)

(3) Conduction does not take place in gases.
(4) All materials do not allow heat to flow through them in same way.

ﬁwﬁf@aﬁﬁﬁamwm%wﬁmﬁﬁﬁﬁ
(1) =di i go & 319 Fegedl § = dis ol ¢ |

Two objects should be in contact with each other for heat flow.

2) m%m%ﬁqﬁmﬁaﬁ@—ﬁ%%nmaﬁw

3) Gl H ueE T B {
(4) | 91 (WmfiEr) mﬁmﬁwmﬁméﬁﬁwﬁﬁéﬁ/ﬁ%n

(i
Ill q

P-IT [ 2 I
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87.  An object floats with — th

of its volume outside the

(1) Densi
1ty of liquid A g greater than denstty of liquid B.
(2) Both liquids have Same density.

3
Part of its volume outside the liquid when put in liquid A and 7 th part
liquid when put irrliquid B. Which of the following statements is true ?

19

é’

|_“,l[l

3) D s
(3) ensity of liquid B ig greater than den51ty of liquid A.

4 Th
(4) € densities of liquid cannot be compared on the basis of above information.

Wa‘ﬁaﬁmﬁaAq@ww%aﬁaﬁammw% 7 (T <hed) o7 <6 T A T 7

ST 5 B H STl ST % 7 e w3 e ST ST 6 7 (T =herd) o ¥ T Sl § | Fratatea o
A B e w@ g0

(1) =3 A #1973, 29 B ¥ w9 @ aifus 31
(2) M =& 1 T T )

(3) TABH TTH THA Fuig A afw%rﬁ
(4) mm%mmm%mﬁwaﬁaﬁmm%l

B

-

88. Sunita drops a piece of potassium metal in a'be'l‘ker of cold water and notes down the observations.
Which of the following observation is not correct ?
(1) Potassium reacts violently with water.
(2) It is endothermic reaction.

(3) Hydrogen gas is evolved.

I
{

e
]
My

(4) Pop sound is heard.
gﬂmsﬂaaa%aﬁmﬁﬁ%ﬁm mmwgmmaﬂ*awm@m?ﬁﬁ@a%\

frfafad § @ S W SodisT 96 @ 82 ¢
(1) ﬂéﬁmm%mmmqm%l
() T SR SAalRaT T
(@) TESeH i fawiad 9§
@) e =it gEE R

ll;t‘ ::ll' -""
)
II,, l..“

|l
/
d

||'| M

i
i

11
A\"l'
Myl

I

p-11 [HHREMERENLE
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89. The Purpose of divergent questions in science classroom can be :
(@)  to promote critical thinking i
(b)  to discern between students
(c) to develop communication
(d) to identify gifted students
(e) to identify alternate conceptions -
(f)  to appreciate subjectivity in science”

(1) (a), (b), (d) and (e) (2) ). (b), (c) and ()
B) (@) (), (e) and (f) “(4) (b), ( ), (€) and (f)
forsm e § Srart we il o e @ war

(a) W(ﬁémm)ﬁﬂaaﬁm%a(mém)mw
(b)  forenfefai & st g ey =

(€) HARY (THUY) formpfag & 5

(d) wfaumemed foefya =t veum a5

(€) Hepfcus EURWIE ) Yeam w1 =

() foum o =fwfrsa = wierd

(1) (@), (©), @ 3R (@) 0D @ ® MO
(3) (@ () @ 3R Ul ) @ () FO
90. Identify the mirrors on the basis of info E‘——_—Z tion given in the following table :
Mirror Nature of image Sf‘ of image

A virtual and erect samte-as object
B real and inverted same as object
C real and inverted e éfflarged
D virtual and erect diminished

(1) A - Plane, B - Convex, C - Concave, D - Convex

(2) A - Convex, B - Concave, C - Convex, D - Concave

(3) A - Plane mirror, B - Concave, C-.Concave, D - Convex
(4) A - Concave, B - Plane, C - Convexs D Concave

ﬁwmﬁwﬁﬁﬁﬂéwé?mmwﬂvﬁaﬂwmz
whifa a0t wefa | wfifee &1 e
e st | Taara
T SR e | SR o
(1) A-99aqd, B - 3/@q@, C - 3@qq, D - 9@
(2) A- 3@y, B - 3fgqd, C - 399F, D - 3f&ad
(3) A-9Hd, B - 379dd, C - 316qd, D - 3@
4) A - ¥9d9, B - Had, C - 360G, D - 3Hedd

O | i

Unw>%

@ Scanned with OKEN Scanner



R I 1T UL Y D e ST

IMPORTANT | Wewaqof :

Candidates hayp ]
Part - 1171 . e to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
- (Social Studies / Social Science).

TR ) 797 31 9 90 a7 ) ,
b —
) @ & & NTT - 11 ( TTROTT & fETT) AT 9T - 111 (@rarfas eEET / AT

coct PART - Il / 4T~ 111 —
AL STUDIES / SOCIAL SCIENCE - AT 3= | At

Direction : . ] . '
G "%r tlmt followmg questions by selecting the corr,@ct/most appropriate options.

31. In a physical map of India jf you have to locate the DeEcan Plateau, it will be represented by the

colour :

(1) orange (2) brown G gen (4)  yellow
WRA & Hifies AMfe & afy sroe) <9 % TSR I TS £ @, T8 fRg <1 @ Qi T a2
(1) =R 2 g (4) dren

(a) Mulching

(c) Terrace farming

Choose the correct option :
(1) (@) () (c) only (2 @ @ (
(3) (@) (b), (d) only (4)

(a) Hed S (b)

(c) fee ks
(1) & (a), (b), (©) (2) (a)~—(c) (d)

3) %ad (a), (b), (d)
Ix (A E AR
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33. Consider the following sentences (A) and (B) about molions of the Eart

T LN gy sy TSR

h and choose the correcy

option :

(A) Rotation is the movement of the earth on ils axis.
akes an angle of 33-]2— with its orbity]

(B) The axis of the Earth which is an imaginary line, ma

plane.
Choose the correct option :
(1)  Only (A) is correct (2) Only (B) 15 correct

Both (A) and (B) are incorrect

(3) Both (A) and (B) are correct 4)
<lon W) ferded 1 A

et ot wifeel & R A fog . Frerfafaw el (A) aen (8) T AR P
(A) el 1 ST 181 R ol e §1
(B) et 1 T8 T e Y &, i ot el e & 334, 1 B A T

e forheq &1 =7
(1) & (A) W& () ¥ (B)FEE
(3) < (A) 7 (B) Wt ¥ (4) 2R (A)qaT(B) T €
34. Watan Jagirs were given by Akbar to which of the fof%—;"'hg chiefs ?
(1) Sikhs (2 Marathgs
(3) Sisodiya Rajputs (4) Indian I\/Z::hms
ot 3 et ot wearl 4 e S e 12
(1) oot @ we
(3) Tt Tsrge (4) ot g
35. Consider the statements (A) and (B) about Paramountcy- and choose the correct answer :
(A) The Company claimed that its authority was noLsupreme ¥
(B) In order to protect Company interests it was ]ustlﬁed in annexing or threatening to annexe
any Indian Kingdom. =_=_*_
(1) Both (A) and (B) are true (2) Both (Al an Y and (B) are false
(3) (A) is true but (B) is false 4) (Ais falsef= but (B) is true
(A) ﬁ(B)WWW%WﬁﬁWWﬁﬁWEWWI
(A) FT 3 g femen o SweRT ST Walled el o1 22
(B) ST fidt 3 e % forw 9 YR Rawal &1 SRy A A ST AR FEHH A H
AR et STa qrd A ot |
(1)  (A) 3R (B) AH v T 2) (A) 3R (B) 3 7o T
(3) (A) W&l g Afer (B) e B 4) (A) 7 & AfEHT (B) W €
P-X1 (e 36

|
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36. Match the followin

appropriate Optiong; €ONCepts in Column - I with their examples in Column - II and choose the

Column - I Column - I
(a) g?ncepts Examples
iscriminat o
(b) Ine qulali ation (i) --Differential pay for same work
() Stereoty;y (ii) ~*Villagers are superstitious
e - . ; . . :
(d) Pr cjudice (iii)™Woman not allowed to be hired since she is starting a family

(iv)—-Girls are good at cooking

(1) (a)—(iii)' (b)—(i), (C)-(ll) d)-(iv £
(@) @), (b)), (0)-3), §d§§m§ i
@) @-iv), (b)-(ii), (©)-(0), (d)-(i)

@) @G, ), (©-(iv), () @
o OO, (©-), (@0

o FFETIS 1 w1 i e s saw @ gt i SR ST fee
Ff“ T WY - 11
: .

() 4= @) T wE ¥ f stem S

(b)  srEmrl (i) AR St

(c) Hfeanfea (i) mimﬁwﬁ?ﬁ%mﬁ%aﬁvﬁmm&m@%ﬁ

T[ < 2

(d) geuron (iv) SRRl e A o R o ¥

(1) (@)-(iii), (b)), (©)-Gii), (@)-Gv) oo

(2)  @)-(v), (b)-(ii), (c)-(i), (d)-(i)

() (@)-(v), (b)-(iii), (¢)-(i), (d)-(i) _
@) @-Cid) O, @), (@-Gi) >
37. Consider the two given statements (A)J z;nd (R) and choose the appropriate option :
(A) : Those places West of Greenwich will be behind of Greenwich time.
(R) : The Earth rotates from east to west and sun rises early in eastern side.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false ~
(4) Both (A) and (R) are false =
QT 1T weEi (A) T (R) R for=m it 72 & foehed =1 7 Fifem |
(A) : S T T & wivem | €, S 999 Wi 3 6 wm
(R) : Yoot I 9 9= =1 iR 9 oilc oo 94 @ faam & s s 2
(1) S (A) 991 (R) ¥& € 91 (R), (A) T & T 31
2) <M (A) T (R) & © 15 (R), (AL T& T T § 1

™,

@) (A) T T T¢I (R) T § €2
@) =W (A) 9™ (R) T §
P-IT IR T g 37
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38.

39

UL R R W e T N et
/N

A population pyramid with big base and skinny top shows
(a) High birth rates

(b) High death rates in higher age group

(c) - Relatively large number of young population

(d) Large number of deaths of mf"mls

Choose the correct option : bl

(1) Only (a) and (b) T () Only (a) (b) and (©)
(®) Only®), @and(@) T @) Only ) ()and ()
@a@wwaﬂtqﬂﬁraﬁrmmmm%

(a) S=HSH W B

©) T AR
() T T N Sife ga SERiE

d) Rrgsdi § 9g i st gy/gEm

el faseq 1 =979 &+
(1) HaA (a) T (b) 2) ¥ad (a), (b) T ()
(3) hdd (b), (c) T (d) 4) ¥ (), () T (d)

Match the following pairs and cﬁfgg—ée the appropriate option

Rocks . =Origin/formation
(a) Igneous Rocks (i) =Change under great heat and pressure
(b) Sedimentary Rocks (i) Z3Molten Magma
(c) Metamorphic Rocks (iii) =Beposition by wind and water
Choose the correct option : =
(1) (@-(), (b)-(1D), (c)-(iii)
(2 (-, (b)-@), (-() =3
(3)  (a)-(ii), (b)-(3), (c)-(i)
() (a)-G), ()G, ©)-G)
frfefea gl 1 firer ifg 3R SYgd foehed i FATT IfT :

| I
|“ l‘lpl Illlil[

il

) . Saaf<y/fmtor

@) =T I () o9 9 TG @ &k HRV UREfdd o S §

(b) R det (i) ~Ffera &

(c) it det (i) <=2 3R 7T 3T 3 GRT T T W R T R T, 5 R
=7 &

T foed 1 w7 =% &3

(1) @), (b)-(ii), (c)-(iii <

(2) (@), ( )((11)1)(()C)( (1; it

O) @M, ©)G), (o))  F

@ @0 O, @)
i |

P-IL rmmmmmmyy 38
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40. WI]iCI
1 of the .
Ollowiy
8 Statements are correct about Amazon basin ?

(a) Thi
1S region ig
ch
laracterized by hot and wet climate throughout the year.

(b) Peo
Ple pra
practice “slagn, and burn’ agriculture.

((C) People mainly Brow padd
d)  Aircrafis S ™
Choose s c:r:::: :S:)(;plus are also used for reaching varmus places in the basin.
(1)  Only o
3) 011:11} e il @ Only (o), (faka (@
Y (@), () and (q) (4)  Only (a), (b)aRd (d)
ST 3R 35 T A P 4 i 2 o §2
@) R 7T T 93 o ey et 21
(b) T A ol o e iy e F
(©) &N gEm: am e
(d) Wﬁ%‘mﬁrwn@%ﬁw%ﬁam%ﬁw@mﬁﬁu%m%\

£

(1) 9 (a), (b) T (c) 2) FI (b), (o) H;.(d)
(3) e (a), (c) TN (d) (4) ¥ (a), ()3 w" el (d)

R
g E' B
1::’_4

41. Consider the fOHOWing statements about Ladakh and choesezthe correct option

(a) Several rivers flow through Ladakh.
Due to high altitude, the climate is extremely cold. == 3

(b)
(c) Despite being in the rain shadow of Himalayas, there is high rainfall.
(d) This area experiences freezing winds and burning hot sunlight

(2) Only (a), (b) and (c) are correct

(1) Only (a) and (b) are correct .
Only (b), (c) and (d) are correct (4) Only (a), (b) and (d) are correct

(3)
m%aﬁﬁmmﬁmmmﬁaﬂmwnémwm\

(a) Wﬁ@aﬂa@ﬁﬂﬁmaﬁ%
(b) ﬁwmﬁﬁ%mmﬁmaﬁwa@%@

femrer & gfte I mﬁm¢WWWw“@f%‘

l‘ ‘l
ll n lig

mmn

()

(d) %ﬁaaﬁﬁw@@aﬁaﬁrﬁaﬁmmmﬂﬂa

(1) e (a) 71 (b) ¥ T (2) (@), (b)mﬁ(c)vﬁ%\
3 (a), (b) 1 (d) T R

3) e (b), (c) T (d) T E )

1.8 1T TR

39
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42,

43.

The Indian National Congress in the early years raised a number of ecol
British. Choose the correct option.

p ‘[amines.
(i)  The Congress declared that the British rule had led to poverty and famil

(ii) It demanded reduction of revenie and cut in military expenditure
(i) Congress demanded more funds for irrigation.

(iv) It raised the voice against entertainment tax.

(1) Only (i) and (ii) are correct (2)  Only (i) and (iii) are correct

(3)  Only (i), (if) and (iii) are correct. (4)  Only (ii), (iii) and (iv) are correct _
amifiyes ol W sRet Ty it 3 syl & faens aga o s gz 9 w5 H TR
(i) e 1 e o1 fop e 1 ffee e 3 ot A € e ot o 75 T

@) s mi o, T e faren st qen et @l # wAd F S|
(i) T RFER % e eifyes srgem @ At 9

(iv) 9 FARSH R & faers oar sar |

(1) e (i) T (if) T T (2) e i) T (i) €
(3) e (i), (i) T (idi) FA €1 ~ @) Faa (i), (i) T (iv) TAC

Which of the following is true about Ashoka’s dhamma ?
(a) It did not involve worship of a“”‘fg"a“d

(b) It did not involve performance s of“a sacrifice.
(c) The ideas of dhamma were 1nsp1red by the teachings of Buddha.

(d) Ashoka appointed Buddhist monks to teach people about dhamma.

Choose the correct option :

(1) All (@), (b), (c) and (d) (2) Only (a) and (b)

(3) Only (b) and (d (4) Only (), (b) and (9
frefetad 3§ S5 T YT 3R % gFH W wd w2

(a) 3 Pt Sor Bt o Y STEEdHA Tl |

(b) wﬁwwm@ﬁmﬁzﬁl

(©) m%ﬁar{gza‘uméi’rﬁﬁﬁl

(d) ﬁmmﬁﬁrmi’#ﬁmmﬁaﬁafwﬁaﬁaﬂﬁgﬁaaﬁl

W T & 5 #
(1) (), (b), () 7o (d) Tl “T(2) A (a) TR (D)
(4) = (b) 71 (o (4) e (a), (b) T ()

| P-X (AU AAO 40
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" o ST ~

44.

45.

Below are sta

(A) .

ents . .
He 5 dvocated o (A) and (B) in the context of Shri Narayan Guru.

Quality ¢ i : .\ : 3
(B) He inspired q Y of all within a single sect or caste.

Choose the correct optioy, . Y )
(1) Bot ' g
& (;:) :S(:‘) and (B) are trye (2)._Both (A) and (B) are false
LN Tue but (B) i false (4) ~(A) is false but (B) is true
A

(A) Wmmwaﬁ@awﬁ@

(B) Rﬁmﬂaﬁwﬂuﬁaﬁﬁﬁwwﬁ?fmﬁﬁ“m‘

1 of ¢
of them to have faith in all gurus.

T oo w1 cd
1 A . . .
1) (A) 3R (B) 2R wey & 2)  (A) R (B) 2 e ¥
3
®3) (A) W&t <fF (B) o 2 4)  (A) TR ¥ AR (B) T Y
g’}[)aég}rll the following in the context of people;x?}_(ja: objects in ancient times and choose the appropriate
A B. =
(a) Barygaza ; @) Stamped@-glazed potterjf
(b) Shrenis (id) Bharuch%f RS
(c) Arretine ware (iii) Indepen@f farmers
(d) Grihapatis (iv) Associati};_\__g_: of crafts peréons and merchants

1) @-@), (b)-(v), ()-(i), (d)-(i)
(@) (@)-G@), (b)-(iv), (0)-(iii), (d)-()
(B)  (a)-@v), (b)-(ii), (c)-(), (d)-(ii)
4)  (a)-@), (b)-(id), (c)-(iv), (d)-(iii) |
ST H AfeREl o erqeti & wexf # Freafefn =t frem 3t siv srge famew = 5 e sfw)

“

A B
(a) ST () TR @ TR
(b) goft i) v&d ;
() TR I (i) T TS
(d) TEufd o (iv) e ?@Wﬁﬁ Eokebl
(1) (a)-i), (b)-Av), (0)-(), (d)-(ii) e
)  (a)-(), (b)-(v), (0)-(ii), (d)-(i) __——-—-—:
@)  (@-@v), (b)-(iii), (c)-(), (d)-(id) s

(4)  (@-0), b)-(i), (0-(v), (d)-(ii)

o 41
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46. Which layer of the atmosphere has very thin layer of air ?

* (1) Thermosphere (2) Exosphere (3) Stratos phere (4) Mesosphere
FgHSe i fFH T | a1 i 8 et ad E‘T?ﬁ%\*?.{.m‘..;
(3) “mdm e (4)  HETHE

(1) T agHed (2) wfedsa ‘

Who coined the phrase, ‘Unity in Diversity” ?

47. :
(1) Pt. Jawaharlal Nehru (2) Mohandas Karamchand Gandhi
(3) Subhash Chandra Bose (4) Sardab-Vallabh Bhai Patel
Fafgerar § whar’ geraw e fear?
(1). dfed SETEEe 88 7 2)
(3) gy IR aH A (4)

48. Which of the following statements is/are true~about technological development in temple

construction from the twelfth century ? e
(a) The weight of the superstructure was carr1e;i:‘l;y the shikhara.

(b) Sandstone mixed Wlﬂ’l stone chips was mcre-:‘;lgly used in construction.
‘ {13

Choose the correct option :

(1) Only (a) is correct (2) Only (b) is correct
(3)‘ Both (a) and (b) are correct (4) Both (a) and (b) are incorrect
Wﬁ@ﬁwwmﬁﬁﬂﬁmﬁygmmﬁwdqﬂ”leh%ﬁa»‘mé?’aﬁﬁﬂﬁ
(a) afmammwﬁr@ﬁmmﬁmww :E

by o g e i g 3 e 8

W fordhed 1w o

W o ST

B @) v & @ @My

P-I [ avmunm e
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¢ fOllowj_ng is not

» Inen f;
(2) Heha d sl fom the same family held the position for generations.

aves T
(B) The king and hireq workers to cultivate the land.

Oftel] uSed 1 %
: um to collect taxe : ille
(4) He did not function ollect taxes from the village.

correct for grama-bhojaka ?

. as a Judge and policeman.
o Wiﬁﬁﬁmwwmﬁmwaﬁ@m
W m k. o

(@) 3 =i s gfew

50. Whi N 1 =
iich of the fOllowmg 1s/are correctly matcheéd:?

Cro : i : A
0 Gl . oyl e i
(b) Tea - ‘Warm climate and high rainfall
Choose the correct option :
(1) Only (a) ‘
(3) Both (a) and (b) ' ' ii Sn?z’hg;)(a) nor (b)
Fret % A w1/ B2 g v g 3780 ° |
(b) =& : T Serary 3k 3= a‘qu_
W ey w1 = Wi =
(1) ¥ (a) () 54 (b)
6) @TMB)IH (4) A7 (a) R A E (D)

51. The category ‘erstwhile princely states’ was applicable :
(1) at the time of Independence around 1947-48 only.
(2) between 1947-48 and 1956 when they were recognised as administrative units
(3) in the post-1956 when they were no longer retained as administrative units.

(4) to none as no such category existed in India.
‘s fara’ Gon A oft -
(1) o=l & THT had 1947-48 & 39 L
(2)  1947-48 iR 1956 % o v 3% ' % w3 s e
3) 1956 3 STE S I FTHTTE el & %A YU T T T

(4) Wmaﬁﬂﬁ?ﬂﬁﬁmﬁﬁﬁéﬁﬁ@mﬁﬁeﬁ\ 4

11

)

i
I

!

(i

'l Wi

iy

W
"y

P11 [ .

(93]
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al India

52' ‘/v rore 1 o Oni

hy omen were taught ay home in nineteenth comu?y c -

2 they could Study as well as do domestic dutie® uld corrupt ! d friends
(b) people believed that ooi ) . places ‘ latives an :

X going out in public pIAC™? e om reld

(©)  people wanted to hide the fact of their educatio”
Choose the correct option : ) 4 (© (4) (), (b) ang ()
(1)  (a) and (b ' ' (C) b) an e

(b) (2)  (a) and (€ ) '(r{F.!Fm IR Al :

S=itwT sl % amaﬁl$ YRa W eyl @) o Gl
(@) Ve -t vy i oft e ,
() T A B Wiy o v i A A TS sl
(€) T 193 oY e s ey o o G T
W& fawey &1 99 5y

1) (a) 3k (b)

@) (@) (b) ¥ (g

ame one of the strongest crig,

@ e, @& OO

. . ich bec
llowing edited newspaper Kesart which

53. Who among the fo
the British rule ?
(1) Jyotirao Phule ) 2) Balgangadhar Tilak
(3) Mahatma Gandhj ((4) Lala Lajpat Rai )
. wwwa@mmwmwmm

(3)  TRIcAT et
>4. Match the following columns and choose:the appropriate option :
Sphere of the Earth Feature-
(a) Lithosphere (i) Plantand Animal Kingdom
(b) Hydrosphere (ii) Madgﬁﬁ of rocks and minerals
() Atmosphere (i) 'Varit“fﬁ"fs%sources of water
(d) Biosphere (iv) Thm:h;er of Air

1) (@-(0), (b)-(i), ()(ii), (d)~(iv)
(2 (2)-(i), (b)-(i), (c)-(iv), (d)-(i)
(3)  (@)-(i), (b)-(iv), (c)-(i), (d)-(ii)
(4)  (@-(iv), (b)-(0), (c)-(id), (d)- (i)
frfafea 4 @ w2t sifedl 1 fram #if :

eat & Weel
(a) e ed
(b) SeHSA
(c) FHew
(iv) = Fhawed wa

@ dwe
(1) @0, B-6), (i), @-Gr)

L
203k

(2 (@)-), b)), (c)-(iv), (d)-()
(3)  (@)-(), (b)-(iv), (c)-(i), (d)-(ii)

4)  @-(v), (b)-(), (c)-(ii), (d)-(iii)

P-I1 [ 14

—————— e
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55.

56.

57.

11

Below are two State

Ments (A) and (B) in the context of leather workers in 19th century.

(A) During the Fir

st Worlg War there was a huge demand for shoes for the armies.
©Ple from Ordinary castes saw this as an opportunity and were ready to supply

(B) The Poor pe
shoes for the army,
Choose the Correct o

Ption . -—1—
() Both () and (B) are

B)  (A)is true pyg (B) is false (4)  (A) is false but (B) is true
ﬁam(A)aﬂT(B)wameﬁaqgmmﬁ%ﬁf*mﬁ%'
(A) WWH@%%W%W?@ﬁWHﬁ%aﬁ%
() mmmﬁaﬁnﬂwnﬁwwm@aﬁfﬁ%@@wﬁ%mwaw

(2) Both (Ai}iﬁd (B) are false

TE I 37 o FY

M) (A) R (B) 3wy g 2 (A) 3R (B) 2 e ¥

(3) (A)vé%ﬁfaﬂ(mnm% @) (A) 7o ® fwa (B) & 2

Z]}]ee cIl\/Iughal Teévenue system with its own sdledulz;iei Tevenue rates for individual crop was
a - B

(1)  Jagir (2)  Zabt 3) Z;tg 4) Iqta

BTl TN =1eren o & wer ¥ v e w0 = TG T T R

(1) iR (2 = (@) wH- (4) =

The opening time of Centra] Government Offices in Iﬁdia is 9:00 a.m. IST, what will be the local

time of opening of the Central Government Offices located at 80° East Longitude near Chennai
and 92°45' East Longitude near Itanagar, respectively - '

(1)  09:10 am. and 08:19 a.m. respectively
(2) 08:19 a.m. and 09:10 a.m. respectively
(3) 08:50 a.m. and 09:41 a.m. respectively

I "“
“ln.nl

(4)  09:41 a.m. and 08:50 a.m. respectively “

HH: sowéémwmm%wwwqﬁm;@gmﬁmﬁammhﬁ%@ﬁm
DI §99 0 F97 20 2 )
(1) FE: g% & 09:10 99 991 FaE F 08:19 &=

(2) TRT: GIE F08:19 9 A GEE F09:10 59—

It
[

|“| "',I“

y

(3) AW T F08:50 I G YT F 0941w ==
(4) EW: GEE F09:41 TN 991 GEE F 08:50 5
LR TEE T 45 : I
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60.

aws that made it mandatory for organisations with more thap

58. The Government has passed |
women employees to provide creche facilities.
(1) 10 ) 15 ;(3) 25 (4) 30
e Y 0 e e o forerd e il X STy (G ) sifrd e & St At
Ftgen 4 afuw §1 g
(2) 15 (6 25 4) 30

1) 10

The rocks that were formed 300 million yc_zusa fter the earth was formed, is :
(1) considered as youngest rocks in the woxld

(2) located in Western Australia

3) located in Eastern Europe

(4) located in the Himalayan region

geaft &1 i o T, ﬁgw?%ﬁnfw%somaﬁmaﬁ g
(1) fova o 9 AR sy

Archaeologists play an important role in deciphering history. Which one of the following choices

_is incorrect about their nature of work ?

(1) Study the remains of buildings, paintings and sculpture

)
(2) Explore and excavate tools, weapons, pots, pan, etc.
)

Look for bones of animals, birds and. fish

“L

(3
(4) Examine the written records

sﬁmﬁ@ﬁﬁwmﬁaﬂaﬁ/mﬁﬁmww yffret fud € | ﬁﬂ%{ﬁ@ﬁﬁ@:ﬂ%
HOH TFAF IR A RA TS B8 7~ , |

(1 Wﬁﬁﬁ(m)wwéﬁmﬁaw

@) e, e, e, e 7 e e - e
@) S, e, woferd A WA

(4) fofea aontt (erdi) =1 i

gel T 46 : I
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61.  Project Mmethod in Social §
(a) ACtivity

Clences involves

@ (b) Discussion
= EX el" 1 -
o (d) Narration

Choose the correct option .

(1) (@), (b) ang ©) (2) (a), (c) and (d)
(3)  (a)and (b) only 0 (@) (c)and (d) only
AT TR & fe TS dmrmd

(a) Tifafafy (b) ==

© v @ i
BRI (e EEC Ty

M) @ o) @ @ © Q)
(®) ¥ (@) 7en @ ¥

62. The purpose of diagnostic evaluatlon isto:
(a) obtain information about learner’s characters
(b)  get to know about the knom;le.:dge students already possess
(c) classify learners into categones
(d) to assess the learners ]

Choose the correct option :

(1) (@), (b) and (c) (2)  (b), (c) and (d)
() (d) and (¢) (4)  (a) and (b)
I i 1 Y Sy

(a) ﬁaﬁﬁﬁ%a&@%aﬁﬁmmm
(b) ﬁaﬁﬁ%@aﬁ%aﬁﬁw
(c) faenfefay = %ﬁﬁfﬁaﬁwm

(d) FerenfeRil 91 st s
e foweq o1 s Y :“ .
M (@), ®) 3R (©Q @ bR
@) (d) R (o) 4) (a) 3R (b)
P-IT (WA 47 7 I
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63. A Social Science teacher asked students to make rules for their class. These were then written
a chart paper. All the students gave their consent to follow these. The chart paper was pasteq j
class, so that it can be 1efened by the students. This can be an introductory activity for which o

the following topics ?
(1)  Diversity (2) _"M'a'x-l"ginalisaﬁon (3) Democracy (4) Markets

wﬁwﬁmaﬁﬁrfwﬁﬁﬁmﬁm%ﬁﬁrqﬁmwﬁaﬁm% 3R 3 fraw & 96 T

forg o 1 Wt =3 1 Rl wrom ) wenfi 23 1 de = e A Fav e S 8, A 9 R
wﬁ%?ﬁtwmﬁwam wnﬁrﬁfwaﬁﬁmﬁ@ﬁmwaﬁqﬁ%gaﬁwnﬁrﬁﬁ:%mﬁ

forn s g 2 2
(1) fafgsar ) Erﬁmw (3) WS (4) ©R

Consider the following statements Assertion (A) and Reason (R) in relation to the nature of Social
Science and choose the correct option.

The social sciences -have developed their own distinct methods for dealing with
facts in an ob;ecuve and systematic way.

Unlike the natural sciences, in Social Science it is difficult to insulate the observation

and analy51s of facts from the pressures of popular sentiment.

64.

Assertion (A) :

Reason (R) :

(1) Both (A) and (R) are tru ii d (R) is the correct explanation of (A)

(2) Both (A) and (R) are
(3) Only (A) is true

(4) Only (R) is true
Wﬁmaﬁuﬁ%wuﬁﬁmﬁf@amarﬁmm(A)aﬂta%(R)mﬁaRﬁﬁfqamﬂﬁ

true-but (R) is not the correct explanation of (A)

faeheq =1 999 ST

AR (A) : WW%H@QWWWW(WWWHMWﬁW
ﬁﬁmﬁmsﬁ%l

e (R) : mmﬁaﬁ@ﬁm(m) Wﬁmﬁmﬁawﬁimﬁavzﬁ%
aaaﬁaﬂ@ﬁéwaﬁqwmw%l

| u“'

(2) (A)@T(R)aﬁ'—ﬁué%wn) (A) Ft TE =R T &
(3) e (A) T R £
(4) % (R) ¥ §1

(1) (A)W(R)aﬂ’m@%@hm (A) B TE =R R

1| "I

a“'

I

Illl
|i
i

10 [ ~
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65.

66.

Which of e f

(a) People are €qual and freq
(b) People are Wealthy

and prosperous
(c) People resolve con. 4

flicts in a better wa tl thers
9 G o o a better way than otl
((jl) Overnment jg more accountable. and rational
1005¢ the correct option : =
: :
@ o e oigier
) (9) and (q) —(4)  (b) and (d)

T 'ﬁm%iﬁq‘%'ﬁaﬁﬁ@ﬁﬁ@mmmmm%?

uﬁ ey =1 =2 H|
(1) (a) e (b) , (2)  (a), (b) T ()
3)  (b), (c) T (d) (4)  (b) q= (d)

Which of the following questions adsé

(a) What are nationa] curricular objectives which can be achieved through heritage projects ?

(b) f‘gg:l\’ arf methods of history iSeful in the research of (a) science; (b) art and management
studies x .

() In how many regional languages and local dialects ‘VividhBharati’ programmes
are broadcasted ? oL , '

(d) Write a review on two lﬁstori:c?l—:serials you have watched.

(¢) What are Bharuds ? In wkﬁcl’;je;gion / State this is popular ?

Choose the correct option : e

(1) (a), (b), (c) and () only () (), (©), (d) and (e) only

(®) (@), () and (d) only @ ©and@onty

Trefefan § 9 SH-3 T Yarers ufm & v v 5 TR & 2

(a) éw@awmﬁ@aw%ﬁﬁ@aﬁﬁﬁmﬁ%mﬁmﬁa(wﬁh)%mmm
g? F

(b) Eﬁavﬁﬁfaﬁ(a)ﬁam;(b)é_?%%ﬁm‘mamﬁ%sﬁaﬁé?ém%?

(c) “TafasRe Srefshe it ferart &t el e T e & SR fe T o

(d) 3T BRI %W T kvl aREtsR W geien fafan

i

() wESFE? feyg aa/mq@mgv
W& faey 1 997 =¢ | =
1) 39 @), 0) @ (@)  —2@) F W), (), @ (g
(3) HEA (a), (b) 3K (d) L2(4) A () 3R (o)
T (A 49 I
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67. Which of the following are essential elements of a fair trial ?

(@)  The trial is held in an open court.

A copy of charge sheet and all other Lvulencc that the prosecution presents to the court arq

(b)
given to the accused.

The defence lawyer is not allowed to crosgsexamine the prosecution witnesses

(©

(d) Judges decide the matter on the basis of ;t}:gtgtatements articulated by lawyers

Choose the correct option :

(1) Al (a), (b), (c) and (d) ) Only (a), (b) and (c)

@ﬁlY (b) (c) and (d)
ﬁqﬁ@ﬁ?—@ﬁmmﬁw#‘w%ﬁ%

WW%WWW‘?W ] '%

(@)

am‘rq waﬁta@aﬁmwmﬁwﬁmwwﬁm@ﬁwuﬁrmﬂaﬁam%l |

(3) Only (a), (b) and (d) (4)

\\"

h

(b)
amaw%aﬁaaﬁaaf@mwﬁsﬂw@ﬁmﬁﬁquﬁmﬁmwmﬂwqﬁﬁmm

7l
mmw%wmmmwi%ammmmm%.

(©)

(d)

31 -

ltll \
I

ol

e faveq 1 997 A |

1

1) @) ®), Q0@ T @) F (@), (b) T ()

| mmui I
W l][
“ I

II

(3) 9 (a), (b) e (d) 4) érora (b), (c) 71 (d)

P11 (RN o
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68. The Nationa] Megs
i ol Nedica] Commission' s Code of Medical Ethics states that every physician should, as
SIBle, prescribe drugs which |

“are called :

() Genetic medicineg (2) Global brands

()  Generic medicineg v ~=.<-ﬁ»(4) Ancient remedies
;@;ﬁmmimgm;%ﬁWW% + ok Tafeheeen <, Sl e € 21, 37 g
(1) IR gt 2) fEw wie

@)  SRE ot (4) WA STER

69. Consider the statements (A) and (B)’“mél choose the correct option :

(A) The natural sciences are super’i&ib social scie

nces and are the domain of bright students.

& ¥

(B) The social sciences are esgential-&

J ; provide social, cultural and analvti al skill ired t
adjust to an increasingly indegendent world, " ST SRS Tegyrec fo

i

) | Boﬂl (A) and (B_) are true (2)  Both (A) and (B) are false

(3) (A) is h'ue_but (B) is false (4)  (A) is false but (B) is true

W(A)aﬂt(s)mﬁanaﬁmﬁng_@:%mgﬁﬁ:

||“| |

i
I

'

(A) mfﬂaﬂmﬁmﬁ %@.iﬁ?%mﬁmfﬁq‘rm &/ %)

(B) WIS forgm wrmfirer, e feh-sik fovaruiia Sioreti =3

TS A1 & T stawas THH
wﬁﬁwﬁw%ﬁ%m% - i

(1) (A) 3R (B) 3 v & =) (A) iR (B) OR e ¥

@) (A) ¥ % g (B) 3y ® (4) (A) 5 | T (B) W
P-IT (AR 51

.\Lﬁ"{ S
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(1)  Text of Ashokan inscriptions.

(2)  Universal Declaration of Human Rights.
(3) Narrative of B.R. Ambedkar’s experiences c of Iookmg for a pl

India.

: . . QR ‘discrimination” ?
70.  Which of the following resources are relevant to discuss the theme ‘discrimin

ace to stay after returning ¢,

(4) Advertisement of a woman washing clothcs m a commercial.

‘Yew’ favg | == FA & o, ﬁmﬁf@aﬁﬁaﬁqmwmm’%?

(1) owie & sifeal @t fafi
(2) AR S Afva s

)

il (]
e st @

3R, SASHT F YR T % GYaI @ B T GG ATl Hl A

4) U a9 ¥ &S Hia gy Afean &l @i

71. Match the following and choose the appropriate optlon

Indicators of assessment

(a) Discussion (@)
(b) Observation - (ii)
() Normative concerns (iid)
(d) Explanation (iv)

1) (@-(v), (b)-(iid), (c)-(), (d)-(id)
2 (@-(v), (b)-(i), (c)-(). (d)-(iid)
(3)  (a)(iv), (b)-(iii), (0)-(i), (d)-@)
4)  (a)-(i), (b)-(iid), (c)-(iv), (d)-() -

SklllS/AbllltleS
Sensmvxty towards differently abled, showing concern for

env1ronment

Making Iogmal connections
Reportmg, narratmg picture-reading and drawing

Llstemng,_expressmg opinions and finding out from others

v:*—_rv‘;

H feu el H1 e L e STga foked g1 :

JATHT oh Wohddh
(a) = ~ [
(b) SFaeR , (i)
(¢ Trams TWHER
(d) wER

(D) (@Hw), (b)-(ii), ()-(), (d)-Gid)

@ (@-Gv), (b)-(i), (0)-(3), (d)-(iii)
B @-(), (b)), (c)-(id), (d)-()
@) @), b)), ()-(iv), (d)-()

-1 R

vﬂwm

52
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72. Lata sells tea
she Cookg foo o,
" goes to fetch water from a far away well. After reaching home

her tea » Wash € the
shop €S clotheg
N ] 'y C].e
an be rEferr:g st;l;es }.louse’ sweeps and then goes off to purchase items for

1S ¢
(1)
()

Double p
W - e burden (3) Housework (4)  Paid work

73.

Choose the correct Option :

(1)  Onl “
nly (a) ~(2) (a) and (d) only

3)  (a), (b) and (¢) only ;(4) () and (b) onl
4 oy

mm%wwaﬁm}m@ﬁmﬁmwmﬁw%

(1) ¥a (a) | _Z) F (a) IR ()
() ¥ (), (b) 3R () —) A (o) 3R ()
P-IT (R0 g :: 53
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74. Read the Assertion (A) and Reason (R) statements and choose the correct option.

Students should be encourag
ort students (o open up.

ed to ask questions in the classroom.

Assertion (A) :
It will help the introv

Reason (R) :
) are true and (R) is the corrcﬁ'l’ eiplanah‘on of (A).

(1) Both (A) and (R
(2) Both (A) and (R) are true but (R) is not the correcl explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

a;&mm(A)ﬁka%(R)aﬁﬂﬁqamHéﬁmm@aﬂﬁm
arfireRer (A) : ﬁaﬁﬁﬁwﬁmq\aﬁﬁmﬁammm|
@ (R) : 7% sfaga faenfefl 1 ger # werd FT |

(1) (A)aﬁumﬁvﬁ%“aﬂm)ﬁmmﬁwm%u

2) <A)aﬂ?<R)ﬁvé%ém(A)ﬁ(mamqﬁm%|
(3) (A) @ & SR (R) T €1
(4) (A)aﬂumav‘fw%u — :

,\(7“ .ii""'
.u;

|

‘h,,,,.;ll

i
‘l

g
)(u) l

75. Read the Assertion (A) and Reason (R) statements carefully and choose the correct option of the

following : :
Values can be taught, too. i~
Social studies is a subject'through'éx:}{iz"ch all basic values can be ta‘qght

w.
4
il

)

Assertion (A) :

Reason (R) :
(1) Both (A) and (R) are correct and (R) explains (A).

(2) Both (A) and (R) are correct but (R) does not explain (A).

. (3) ; (A) fs trué but (R) is false.

(4) Both (A) and (R) are false.
SR (A) 3R HRUT (R) B TEEHIED el aﬂiﬁqﬁf@ﬁﬁ@nﬁﬁmqﬁﬁ:

e (A) : ek g Tgrd off 1w T ,;,__
T (R) : mﬁ%ﬁ%%ﬁw%mﬁqﬁw%q@mwm%|

(1) (A)W(R)ﬁaé%aﬂtm)ﬁ(n)mm%l

(2) A)W(R)ﬁaﬁ%ﬁmm)ﬁ(n)mﬁm%
(3) (A) T T fibg (R) 39 & o)
(4) (A) T (R) S oA B
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76. Fundamental Ri
ht § ) "
classroom. Thisgwiiland Duties of Indian Constitution are written on the walls of social science
make children learn primarily through

(1)  Observation

(2) Imaginal—ion::”i 3) Memorisaﬁon (4) Reasoning
it aﬁﬁaﬁwwwmﬁm'mwmaﬁtwﬁiﬁmw%l 7% a=a i
' F 5 fommm &)
(1) STaerET @ 3 £ T I

77. Which of the following may be acquired by learners in a project work that involves engaging

students in authentic, real-world problemsolving tasks ?

|
|
|
]

!

s 1l

(1) Development of critical thinking s

’

|
I

Jiy
i n]l
ot

(2) Improvement of content knowledge

|
1"%‘
o
2

2

(3) Enhancement of creativity and innoyation

(4) Promotion of collaboration and team work

4

!

%
5

1)
“,\\ﬂli
imom g

1

i
|

&
1
g
:

|
\ ' 1l

)
!

o

2) fseft 9 o HivE d R |

L1

Ty I

i
1

i
hm
-

(3) TR SR Tl |

(@) e ol i o A <

.11 [T »

el
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78. A well-designed portfolio assessment in social sciences should be :
(@)  purposeful and systemalic
(b)  reflect regular assignments and aclivities of 9[11(19111
(c)  focus mainly on the preparation of re port ¢
(d) accumulation of student’s work over a long

(1) (a), (b) and (c) (2)  (b) (c)and (d)
B) (@), (c) and (d) 4) (a), (b)-and (d)
e o u s g @ SR e g dewer B
(a) SR § syt g wfed |

(b) forenell % Frafig sl @ nfafafie @t =@ |

(© ToTa: RUE 1€ a9 w Ffga g =fed

(d) foremefl & rif o o g W g A A | e
(1) (a), (b) T ()

@) (a) (o) T (d)

Which method would you use to collect mformatmn about the actual and correct status of

ard
peuod of time

Choose the correct option :

® © O
@ @eTT@

79.
earthquake victims in your area ? E*«a,_
(1) Inquiry method ) SurveyunethOd
(3) Project method (4) Probleni—i'folvmg method
ST 3T 87 % Y Wifeq sl Ht AT @ Fe feaf & AR TARR GHEA U 5 o 5
T J41T R ?
(1) st/ geas fafy (2) wea fafy
(3) uREIS fafy (4) TmEn-gEE fafy
80. Which of the following technique is most effective to assess individual performance of a student
working in group task ? {v3 : .
(@) Rubrics (b) Multiple-€hoice Question
(c) Presentation (d) Portfolio—-
Choose the correct option : £Y5
(a) and (b) (2) (b)and (c) 3) (C) and () (4) (a) and (d)

1)
ﬁmf‘af@aﬁ@m—mwﬁummwwwﬁswaﬁ%—aﬁ%w@ﬁmwﬁaﬁh
BT 1 FeTT-3TRT el Al &l 2

(a) Tafteq
(c) wifEs gegetetor
R foen 1 =7 ¢
| O @ (2) O () (3) (o) T (d) (4) (a7 (d)
P-LT [ B 56 o
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81. ACCOrdin
g to Indlan
Constitys e y
M To give Special l‘ream:_:hon this kind of reservation is not a violation of the right to equality.

2 To ensure jop It to someone in order to ensure equal opportunity.

S to peo
People from States where an elected representive or Minister comes from.

@) T j
O ensure Jobs baseq On nepotism 4

4) To 8ive jobs

() TS 3 w0 iy et 2

82. Which : :
( ic ‘A;)}f the following provide scope to develop critical thinking skills ?
a i }
b) at role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?
(b) What is the purpose of press conference ? How doé__gg;ghe press conference help you get

.

ormation on what the government is doing ? R

- B

(c) Differentiate markets with illustrative examples.

== E

(d) It is necessary for the civil servants to be politically ne t;_?al Explaih.

(e)  Availability of water is a major factor affecting the sefflément pattern. Discuss.

it

|
i

Choose the correct option :
(1)  Only (a), (b), (c) and (d) (2) Only (b), (c), (@) and (e)
(3) Only (a), (b), (d) and (e) (4) Only (a), (c), (d@)"and (¢)
frefafiad 3 @ $IF e fHaT S &1 fawfaa S &1 Tae TH ST €2

VSRS § e ST SR e 8 =1 3 7 yftreh g 2

al

;b)) S el 1 o WIS &2 WK 1 H @ § T R G W hA F I At H (R )
3TYH! Tl il © 2 | -
(c) Tl Serewell & Wy SRl # S HifCl ;—::
(d) @W—W%W%W%ﬁ%mﬁmﬁ@% T H
(e) mﬁwmmﬁmmm@g@%?%nﬁﬁ\
W forspeq &1 =757 X | e
(1) ¥ (a), (b), (© R (@) () %ad (b), (C)@%’T’R(e)
(3) % (a), (b), (d) W) @ (@) () @RE
v ; |
11 [0 o ~
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i in livelihood source j
83. A large number of people in rural India who are landless, although their main Lve e

~agriculture are called as :

(a) Marginal farmers (b) Migrant labourers
(c)  Agricultural labourers (d) Small farmers
Choose the correct option :
(1) (a) and (b) only (2) (b)and () vonly
()  (a), (b) and (c) only (4)  (b), (c) and (d) only
Tt i A Ua we wen A s an e g, STt SR SfereRT <1 TEA B i €, FEEd § ;
(a) i foam (b) vaTE A W
(c) T WO (d) e fmEm
T foaheg # WE H
(1) % () 3R (b) @ FEE )@
(3) ¥ (a), (b) ¥R (0) (4) e (b), (0) (D)
84. The ideas of Liberty, Equality and Fraternity of the ?_nglrian Constitution are borrowed fron
(1) Ameri.can Revolution (2) French Re%_zoiution
(3) Russian Revolution (4) Magna Carta-
TR Hfaur § e, S e sy o T fog T8 |
(1) T Hifd ¥ (2) ettt it &
(3) w i | (4) et @

85. Which of the following should be considered as gender ’ﬁeﬁtral atmosphere in a school ?
(a) A group of girls are making Rangoli
(b) A group of boys are volunteering in annual function.
(c) A group of girls are preparing for dance competition. |
(d) A group of boys are arranging refreshments for guests.
Choose the correct option : el

(1) (a) and (b) (2)  (b)and () (3) (a) and (C) (4) () and @
frefafea § 9 H-9t feafa frd foemem 4 ¢ W’WWWW%7

(a) TS(HAT & T WY g Tl S o
(b) TSI & THE GRI Sfehicad § Heg HT ~

() mﬁwmaﬁa@%mwaﬁmm

TR e 1 91 L

(1)  (a) 7 (b) (2) (b)T(c) (3) (2T (9 4) (b)@(d)

-1 [ 2B
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86.  Which region i, India h

1 as the highest concentration of Adivasi communities ?
(1) North India

. (2)  South India (3) East India (4) West India
RUSIE R 2 PR SIS Feparf = e way o % 2

M) IR i & (2)  <fiqor sy H (3) q:«ﬁlmffﬁ (4) feem A H

87. Consider the following st

atements and choose the correct option.
Statement (A) _

Investment in non-farm ac(1v1t1es in rural areas can reduce the rural urban
migration. ;_! e

Statement (R) . Migration increases durmg |

activities in rural areas.

Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false '

(4) Both (A) and (R) are false
ﬁmﬂ@ammﬁmaﬁmaﬂw@ﬁmqﬁﬁ: |
HRAT (A) : W%ﬁﬁﬁt—%nﬁrﬁfwﬁﬁéﬂ ST SR TeATE W S Y TRl 8 |

AT (R) : @WW%WWﬁ@%%%WWMﬁ#WWMW@@
(1) (A) ¥R (R) 3 T ¥ i A)aﬁ(R)u@ézémm%l

(2) (A)SﬁT(R)ﬁﬂﬁ%%m(A)ﬁ(R)ﬂﬁmﬁm%l

(3) (A)F& T AR (R) o & -

'*-"fr-

4) (A) 3R (R) TH e ) d

rticular season when there are no agricultural

(1)

"ﬁ:u‘

88. A teacher wants to divide 30 students of her class in small groups for a task on diversity. Whlcl

will be the most relevant way to make small groups of students ?
(1)  As per students comfort

(2) Benchwise from front to back

(3) According to students marks in last exam from high to low

(4) Heterogenous random groups based onﬂé_g—ame

fafetrar foawg @ w1 3 ¥g T sttt T = ﬁasoﬁaﬁq‘(aﬁ@%—@%mﬁmm@
ﬁwﬁf&aﬁwﬁﬁmmaﬁq—mmmﬁm7

(1) forenfefl = glawrgam
) aﬁ@ﬁ%%mﬁéﬁ%m%mﬁ"

(3) feranfiai % froeh wden 3 oTu siwl % weaw 3
@) fowm agfees we s el we W anui

P-IT ([ mIn >
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89.

90.

the concept of plurality in social scienc,

Which one of the following statements accurately reflects
curriculum ? Choose the correct option :

(1)  Dominance of a single ideology..

Inclusion of multiple perspeclives and diverse view points

()
(3)

Exclusion of certain perspectives from social science

Use of complex language in socml science curricular materials

4)
RICISCRERIERICaC ik aﬂmaﬁwaﬁﬁwﬁﬁﬁﬁ@aﬁq g1 e G G A T2 T

faeq &1 997 A | (Al
(1) e [TERYR St yoE

(2) o TR SiR fafay gfeenon w affea w0
3) Wﬁaﬁ@wwﬁﬁ@mﬁw |
wmﬁmmaﬁma?%?www

@ _
The Constitution determmes the r :Iz%: nship among people living in a territory called citizen and
also e :

(1) relationship among people and eorporates

relationship among neighbouring countries

@
(3)

(4)
aﬁmw%ﬁwﬁaﬁvﬁﬁ%@wﬁmwwwﬁdﬁam%aﬁt%

fayffia a1

relationship among people and government

relationship among neighbouring countries and government
=i

i

P
lll “dl‘l

(T

I‘"'llh

I

!

i

(3) il $IR YR & o= Fay

(4) T 2 3R TR F o FaY
60 , I

P-I1 [0 TR
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PART - IV
LANGUAGE -1 : ENGLISH

uld attempt questions from Part-IV (Q. No. 91-120), if they have opted
as LANGUAGE-1 only.

IMPORTANT : Candidates sho

for ENGLISH

ead the . | N

? On 1I;assage Biven below ang answer the quesiioi\s (91-99) that follow :

jer. giagnlna;y 13009’ several interesting things happened. A plane crash landed into the Hudspn

B 1 the middle of Ny York City. Thepilot, crew and 155 passengers escaped safely.

g else happened... Jim wsziﬁéarby and watched the event happen. He

spread quick]y P d that he had just seen a pi_«jﬁe' crash in the Hudson. From there t.he news

other peop] Y. People Contacted him immediately and asked him what was happening, z.md

T People on the Street took photos and videos, with their phones and posted them online.

Irdina eopl . . g . e
Rews c;}; rI:n eII; .e suddenly became journalists. Ifwas 15 minutes before the news broke on official

immediately tweete

News”travellls fast on social media, but false stories-spread just as quickly as the truth. Some of
these “facts” are €rroneous, others are deliberate-hoaxes. Hoaxes remind us that not everything

people post and publish is reliable, But social media can change our lives for the better.

i
S

1. The meteor explosion in 2013 in Russia was watcf::e‘"a by people on :
(1) Twitter (2)  YouTube
(3)  All social media handles (4) Facebook and YouTube

2. “Some of these facts are erroneous’. The antonym for the underlined word in the given sentence

1S : SE====

(1) faultless (2) inaccurate (B)==mvalid - (4) surprising

Why should we not take news on social media lightly ?
(1) The facts are erroneous. J
(2) Strangers can call you to seek informatio
3

(4

) They can change our lives for the better.
)

News posted are hoax and confusing.

T R ol | :
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94,

95.

96.

97

98.

99.

he correct sequential order.

Arlange the following events as menmoncd in para 1int
(@)  Jim watched the crash and tweeted.

(b)  People started contacting Jim for updated news

(¢) A plane crashed into the Hudson River.

(d) The news of the crash was broadcast-15-minutes later
(1) © =)= ()= (@ e

2 ) —=(© =@ > @)
B) (d)—= ()= (- b a
@ (©—@ = b)-(d LA

Read the following statements :
(a) A plane crashed on 15 January, 2009

(b) 155 passengers escaped, but the pilot lost his life.
(c) Jim, an onlooker, posted pictures on:Facebook
(1) (a) and (b) are correct, but (c) is inccirect

(2) (c) is correct, but (a) and (b) are incofrect

(3) (a) is correct, but (b) and (c) are mccyrrect

(4) (a), (b) and (c) are all incorrect L

|
!

'

Complete the given word analogy :
?

.luu,h

i
N

il

I

dramat_ic g exciﬁn_g : : hoax :
(1) media posts (2) deception

(3) example (4) excuse

News on social media; .
(2) travel fast

(1) are reliable
re insignificant

'(3) are dehberate hoaxes

b

]l
1!“ﬁ
i

|“'l

Identify Parts of Speech of the underhned Wotds in the sentence given below :

(1) noun, adverb (2)_7verb adjective
(3) verb, adverb (4) -noun, adjective

‘But social media can change our lives foﬁ_f_lg better .’

l' Iy

lln tl!

Ordinary people suddenly became ]ournahsts means :
they started posting news-bits pictures and videos on social media

(1)
(2) they headed towards media houses to seek employment
(3) they started contacting Jim to know the details
(4) they left the jobs where they were employed
I

62
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-105) that follow :

F U e beautifull}r drest. il

Th i et
€ wonderfu] ajy 1S over me,.

And the wonderful wing
It walks on the water, ap
And talks to itself on the
You friendly Earth! How f
With the wheat-

With cities ang

;s_*sibakmg the tree,
deawhirls the mills,
tops: of the hills.
fields that nod and the rivers that flow.
gardens, and cliffs, and isles,

On you for thousands of miles ?

Ah, you are so great, and I am so small,

I tremble to think of you, World, at all;

And people up

And yet, when 1 saig my prayers today,

A whisper inside me seen{éd;to say, A

"You are more than the Earthy though you are such a dot,
You can love and think, andjhe Earth cannot!’

100. What does the underlined word refer'to ?
‘It walks on the water, ...’ ‘Ym“
:r{%"-_u

(1)  river (2) grass ;;,1;-;.} () wind (4) Earth

101. In the line, ‘with the wonderful water round you curled’, the word ‘curled’ means :

(1) arched (2) surrounded (3) mounted (4) turbulent

102. In this poem, the poet describes the :

(1) the Earth, its present and past & :(::2) the plants that grow on.the Earth
(3) beauty and vastness of Earth = (4) life in the cities
103. The wind in the poem talks to : :
(1) itself (2) trees ; ~ (3) clouds (4) Thills
104. Identify the figures of speech in line T_&ad line 4

i
Hin

I

(1) anaphora, personification ) alliteration, metaphor
(3) alliteration, personification (4) simile, alliteration

R R #

y _..-.?n{’_-.:___...__.——-——~—
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: ; . at it great.
105. List the 3 different things (in stanza 3) found on Earth that make it gree
(1) rivers, gardens, cliffs (2) isles, oceans, people
(3)  wheatfields, trees, whisper (4)  cilies, grass, mills

i 3 A ¢ Aterials is called =
106. The impact of tests and assessments on teachers, learners, and materiz —

(2) ~Washback effect

(1) Corpus effect
(4) ~Rdinforcement

(8)  Classroom effect

107. Schools should follow additive bilingualism bacause it !
(1) values the culture and language of the_child
(2)  gives importance to teaching English as.a‘second language
(3)  promotes the child’s language but notihe culture
(4)  hinders the development of the first ]aﬁgua ge

108. Linguistic function such as intonation, tone, stress, and rhythm are known as :
(1)  Poetry (2)  Prosody (3) Phonetics (4) Pragmatics

109. Which of the following statements is NOT trug about languages in India ?
(1) According to the Indian Constitution, E;g]ish is an Associate Official Language.
(2) According to the list of Eighth schedul&g_i_i:iﬂle Consﬁtuﬁon of India, there are 22 languages

(3) Sanskrit is a Modern Indian Language._=.
(4) Hindi is the lingua franca of the Indiafi §ib-continent.

L

110. In a language class, students form groups_._u?nder the guidance of a teacher and present ar
advertisement on a given topic. Learning adanguage in this way is called .

(1) Collaborative learning (2) Competition and rivalry
(3) Language games (4) Guidance and counseling

A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What

among the following should be objective of the lesson ?
(1) To acquaint the learner with the lexical itams

(2) To familiarise with the grammatical itegjs;g

(3) Tointroduce the text about a holiday degénaﬁon

(4)  Todevelop critical thinking

s & 8

112. Which school of learning believed that languagezwhether verbal or non-verbal, takes place through
the process of habit formation ? N
(1)  Functionalist (2) # Behaviourist
(3)  Cognitivist (4) Interactionalist

11 Ao o
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113.

114.

115.

116.

117.

118.

119.

120.

The time and place of the story are called the __ .
(1) Theme (2)  Setting (3) Plot (4) Climax

Inalanguage class, a teacher asks g group of students to act as purchasers, property sellers, landlorc%s
anc.i tenants while other students are asked to watch them and enjoy their conversation. This
activity is called .

(1) Roleplay (2) Drama (3) Acting class (4) Guidance

A language teacher brings everyday objects such as newspapers, menu cards and train tickets to
teach the students of class V. What is she doing to make learning happen ?

(1)  She is using authentic Materials to make her teaching more realistic and useful.

(2) Sheis trying to help her students to learn multiple languages.

(3) She wants her students to learn English through real life like situations,

(4) Sheis Creating awareness in the students.

Which of the following is NOT an important factor in planning a listening lesson ?
(1)  Pausing the recording. (2) Speed of delivery.
(3)  Gender of speakers. (4) Number of speakers.

Multilingualism in India intends teachers to understand :

(1) communication happens, and social cohesion is maintained

(2)  minority languages should be clubbed with dominant languages
(3) ‘alanguage’ policy should be framed in a diverse society

(4) language, identity and culture are separate entities

Which skill of language is known as receptive skills ?
(1) Listening and Speaking (2) Speaking and Writing
(3) Reading and Writing - (4) Listening and Reading

Listening involves :

(1)  hearing the sound, decoding the sounds as they are
(2) guessing the content

(3)  using prior knowledge of the subject

(4) recognising sounds and deducing the meaning from it

Match the language teaching methods in Column - A with their understanding or related activities
in Column - B :
Column - A Column - B

(@) Communicative Language Teaching (i) Socially acceptable and contextually
appropriate language

(b) Direct method (i) Silent reading
() Grammar Translation (iii) Written literary texts |
(d) West's New Method (iv) Grammar is taught inductively

(1) @-(), B)-(iv), ()-(i), (d)-(ii)
() (@)-(v), (b)), (0)-(id), (d)-()
) (a)-(ii), (b)-(i), (c)-(ii), (d)-{iv)
@ @-@, O, (©)-Gv), ()i

P-IT (KN 63 , x
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T - IV

MY -1 : ﬁé’l
Heequt ; el wrr-1v (wH, t)1ﬁ120)?ﬁus=h‘a:w%mmmﬂ%iaﬁ3%*ﬁurm—laﬂﬁai]
et g e
9)%W}3q§aﬁmmﬁf%rmaﬁgﬁq:

THRYT : 19 QU ¢ TRy W) ygert U Mo uyEl (. 91-9 & > i

Hﬁmﬂéa@maﬁﬁiﬂwuﬁfm%l Ha‘mf‘ama?}ztmmzﬁlm'w”é%&mqma;
forsfafera B fasial o ged-fmed qeoil @) fifan arart st 7ecll 2 aﬁmﬁ'ﬂméﬁ"m"“’:‘mw
ﬁmaﬁﬁﬁamaﬂmaﬁw%,ﬁmﬁnmahmaaﬁwmﬁ&mm@mmmﬂﬂwzﬂm
A1 TEE-gm W iR 3 qure % weat @ @ fafi B e € WWWWWWW
ﬂ%ﬁm@gmﬁWwamagnﬁm?mﬁ%,ﬁiﬁwwma@gﬁfww
T ) D T F I P T §1 S AR SR e Faes i E Tl T qe
TSar § favard o 9T @A 95} R F S

91. HIFN-TT Wi FloTor! Fifger & I 8 2
(2) S St TR

(1) it 93! T FARSH | ‘ .
(3) S AT W B AT (4) i forea Fagrl <kt feia L
92. ‘wHoeE’ QA ©
& el | JrEfes 8

(1) i e fosiy & oo gen )
(3) e oI ) WE SRS FAE | (4) ST FeA b @ A

T e & ISRl # sTewaswdl &8 g1 8 o el €7

93.
(1) i GHS ! STEF FA 8 | (2) i HAIS T HARS W?l
(3) i TEIS I Aok T © | (4) 1 FES T S
94. TIfec®R 3 G % fore fearf S 9@ w7 1 T T2 €2
(1) TooE H1 R TR FAS (2) TG i AR S gAT THS
(3) SIS HHS (4) TorERr gen we
95. m%a@wmﬁﬂﬁﬁmmﬁﬁmm%?
(1) T % 3TYfTeh B i 2) HeE & forexd it
(3) U fagri % o P (4) TS faged it
96. ‘fayafed’ & yaa @
(1) fod (2) d (3) =d (4) @fead
97, ‘=AM % FEd B w1 fefd’ g it v o €
(1) efmr (2) A (3) omfm gn  (4) TEA
i o g 66 I
g

@ Scanned with OKEN Scanner



98. ‘W'Waﬂm
4%
1) Tovamy
3) T ey (2) fava @ deifua fam

(2) H‘q’rﬂaﬁfaa:rq (3) faen
‘ AEEOE 2 ; 4) Hife:
Frefefas wary T UgeRt =

5 Ay D T sy m;ﬁl'v%‘oo-los)%mwmmﬁmaﬁgﬁq:
I’ W Gyt
HIR- -y |
ﬁfﬁqﬁaaﬁa%ramaﬂ?éf
AR E 2 3w amne
Eﬁtm‘f“ﬁ'{?ﬁ%“ﬁﬁm—w

THA T 1 Feret qr

T TN o - iy
TS ST A o B sy

R S,

100. feoremeam’ =1 <y firede &
(1) feFmomEm (g Ewaqagﬁ Ot —

RoRa

(1) W& (2) oo

102. T TR i Ferw s g
1) A 2

() (4) e

SIEAN - (3) gem (4) fafw
103. He Gl o e % oTohte @ s @ &0
(1) R R T
() T IS F WY e D

104. ThEe SO &Y o 3 T 22
(1) #w 2) W@

(2) el § W Tw Y
(4) @ onferm d X s R

o D Y
105. TV H fove STeieR =1 36m afumgéﬁ%?
(1) foernfe @ s ] 3

™ pEC (4) WS
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PART -V
LANGUAGE - Il ;. ENGLISH

t-V (Q. No. 121-150), if they

IMPORTANT : Candidates should attempt questions from Par
have opted for ENGLISH as LANGUAGE-II only.

Read the passage given below

1.

121.

122.

123.

124.

P-IT A mnmm

and answer the queétibﬁs (121-128) that follow :
ir desire for chocolate. They are simply the

Chocoholics no longer need to feel guilty about the
victim of the genes, scientists have found. The so cdllecl “sweet-tooth gene” has been identified by
separate teams of researchers and helps explaiﬁ u’fh’“y some find it harder to resist chocolate barg
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the

gene and help people resist sugary foods. Children, in particular, risk their health by eating too

many sweets and chocolates.
To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste

receptor recognises the sweet content of food and initiates a cascade of events which signals to the
added, “The same gene exists in humans, so it

brain that a sweet food has been eaten.” He further

means that if your parents have a sweet tooth then you probably will as well”.
weeter tooth than others. But it has

He said, “We have always known that some pegple have a s

also been proved that if you are gradually expmecﬁ.é?ess sugar, then the body becomes accustomed

to less. They will be satisfied with a lower leveIaOf..,.r.zéwee

gene therapy which seeks to deactivate the swggﬁi:';‘;ene' “We have produced this gene et

evolution because sweet foods in nature are not poisonous, they give us energy. We all need to
e ing this discovery to develop

have some sugar in our diet,” claim scientists. US.tesearchers are usin

%

tness. Doctors warn against any form of

artificial sweeteners without any after-taste. .
Identify parts of speech of the underlined wordgﬂijglﬁgyhe given sentence :
‘Doctors warn against any form of gene therapfm;hich seeks to deactivate the sweet gene'.

(1) preposition, adjective (2) adverb, adjective
(3) preposition, noun (4)  conjunction, noun

Complete the given word analogy :

accustomed : habitual : : initiate : _? .
(1) halt (2) complicate (3) start off (4) hinder
Having a sweet tooth means :

(1) buying sweet food items from shops

(2) Dbeing fond of sweets and chocolates

(3) teeth being sweet to taste i

(4) teeth becoming decayed due to sugary food items

Doctors are not in favour of gene therapy because [

(1) Sweet foods give energy to the body. -

(2) Itis poisonous. e

(3) People will feel guilty after going throughft.L}

(4) It will enhance sugar levels in the body. __3.
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125. Accordm tor
(1) dangerous 'S, sweet foods gare :

3) POisongyg (2) energy boosters
(4)  deactivated genes
126. The phrage - e
Cc - itates g cpqge e of events’ ) .
1 N ascade of events’, means :
(1) to put a Stop to orde

rly events

Cquential events
en to the brain

a series of occurre

3) signals giv
4) to start nces
127. Read the Statementg

EE; Eosc\i?l-s h_ave £ apy to control sweet gene.

@ o cclzet taste receptor recognizes the amount of sweetness in food.

j redity factors have absolutely no role to play in inheriting the sweet gene.

(1) (@) and (c) are incorrect, (b) is correct

(@) (@) ang (b) are i

(3)  (b) and (q) &

‘ect, (a) is correct
@) (a), (b) and (¢) are all inco)

128. “Chocoholics’ are people :
(1)  who hate chocolates
(2)  who enjoy both chocol
(3)  who are fond of choco
(4)  who are makers of ch

given beloy -
avoured gene ther

ates and alcohol
lates

ocolates

2. Branches of trees adorned with colourful prayer flags stood high into the wind from the top of the
flat roofs. The auspicious blue, white, red, green and yellow colours of the fabrics stood out against
the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelled dragon
horse, who carries the owner’s prayers up to the divine every time the flag flaps in the wind.

3. The larger villages have healthy trees,

usually willows or poplars which look

quite out of place in
the generally treeless landscape. Wood i

nd areas of Tibet and

ibetans, who have an Ingenious
wood substitute : yak dung.

-129. Why do the willows and poplars look absurd in the landscape ?
(1)  They are stunted shrubs.

(2)  They have minimum branches and leaves.
(3)  Because the landscape is generally treeless,
(4)  The other trees camouflage them.

P-XT (TN m 7
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130. Identify the underlined words in the given sentence :
The Jack of solid fuel in the shape of wood is not a problem for the Tibetans
(1) noun, adjective (2) adjective, noun

(3) noun, noun (4) verb, noun

131. Read the following two statements :
Assertion (A) : Wood and sticks are piled high against the courtyard walls in thel Kotiges

Reasoning (R) : Wood is found in abundance across Tibet
(1)  (A) is incorrect, but (R) is correct

(2)  (A) is correct and (R) is not the reason for it

(3) (A) and (R) are both incorrect

(4)  (A) is correct and (R) is the reason for it.

132. Yak dung is used by the Tibetans as a substitute for :
(1)  buildings (2) marigolds (3) fire (4) wood
133. What aspect of Tibetan houses as described in the passage is incorrect ?
(1) Walls are made of mortar and cement.
(2) Tin cans line the window ledges.
(3) Roofs are made of mud bricks.
(4) They are solidly built.
134. The phrase ‘courtyards jostling together” implies :
(1) being very far apart (2) being in different sizes and dimensions
(3) being one on top of the other (4) being in close proximity -
135. Complete the given word analogy :
precious : valuable : : ingenious : _?
(1)  theoretical (2) inventive (3) genuine (4) practical
136. Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?
(1)  Textbook (2) Railway ticket (3) Television (4). - Padlet
I

P-IT (NN 2
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137.

138.

139.

140.

141

142.

143.

144.

Which too] is not ide

al for formative assessment ?
(1) Assignment

(2) Paper pencil test
3 ‘Oiect

©) Project (4)  Class presentation
Usil\g QVerka‘y
(1)  Realia

objects to teach language is called _

(2) Language games

3) Teaching aid (4)  Text

India’s language in education policy (Three Language Formula) attempts to promote :
(1)  Muld language education

(2) Monolingual education
(3)  Bilingual education with the focus on Hindi

(4)  Mother-tongue based multilingualism

What is NOT true about top-down processing ?
(1)  Listeners rely on their background knowledge
(2) Listeners make guesses about the intended meaning

(3) Listeners make use of the knowledge of the world
(4) Listeners need to understand every word

. When is International Mother Language Day celebrated ?

(1) 1% January (2) 14™ February (3) 21st February  (4) 13t April

Identify the type of email you would write if you were writing to a colleague who is your friend.

(1) Informal (2) Formal (3) Business (4) Correspondence

Assessment done throughout the teaching-learning process to clarify student learning an
understanding is called : '

(1) Assessment for learning (2)  Assessment of learning

(3) Assessment in learning (4) Assessment as learning

In a second language class, a teacher played audio on ‘Health is wealth’. He then distribu
handouts and asked the students to tick the correct answer from the given option. The objectiv
the lesson was to enable the learner :

(1) to hear the lesson on health (2) to engage the learners with a tagk

(3) tolisten, to analyse the ideas (4) to memorise the lesson on health and wealth

P-IT IR mnwam 7
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145. What is NOT true about errors in language learning ?

(1)  Errors hinder the language learning process.

(2)  Errors are not always bad and help in learning.

(3) Errors are crucial aspects of the language learning process.

(4)  Errors help to understand the process of second language acquisition.

146. Creativity in language education is :
ations and answers.

147. Learners should be exposed to language, and errors are evidence that le

open-ended classroom tasks which allow for different interpret
t subjects to understand something.

(1)
(2) merging elements from differen

(3) classroom activity using new methods of teaching.

(4) classroom material using communicative language teaching.
arning is taking place is

advocated by :
(1) Behaviourists  (2) Cognitivist (3) Humanist 4) Psychoanalyst

148. Which of the following statements are correct ?

149.

150.

(a) Dyslexia is a reading disorder.
(b) Dysgraphia is a writing disorder.
(c) Dysgraphia is a reading disorder.

(d) Dyslexia is a writing disorder.
(2) Only (b) and (d) are correct

(1) Only (a) is correct
(4) Both (c) and (d) are correct

(3) Both (a) and (b) are correct

1 teacher, uses visual devices and language games to teach English to

Rita, a government schoo
principle of teaching is Rita applying ?

class VII students. Which
(1)  Principle of natural process

(2) Principle of practice and habit formation
(3) Principle of motivation and interest

(4) Principle of correlating with life

What is a short story which has animals as the main characters and teaches an explicit moral

called ?

(1) Fantasy (2) Fable (3) Science Fiction (4) Travelogue

P-IT ([ 74
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100. amﬁﬂmﬁ@|
ORRLL (@ W (3) o

101. <O eI IS % @wita 2
(1) fefor 2) fom

4) wEq

©) w @) wErE
102. GYFE Gorl 6 T el ?
(1) g8 2) ==m (3)1@:;
103. A~ TR T F: For: e ?
=3 @ SRS
104. ‘T’ s@fem W &: 9am@: ody 2 - |
() wasgs: (2) TR (3] s
105. ¥H fo& ety 2
1) < (2) AR 3) HHm:

(4, T

(4) ¥

Do(4)  HHEREEEE:

(4) 99
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106.

107.

108.

109.

110.

111.

113.

. T SAREHIEE: (

a%,?ﬁgmaqﬁmmﬁfaum:M— t
(1) Ny feshyama; (Corpus effect) (2) yfqaEgymE: (Washback effect)
@) T (Classroom effect) (4) YAEEq (Reinforcemeﬂt)

feremerdt: e e TR0 oy, ar fe 3r-

(1) ST mren: wegsd: = w

(2)  Tedtamretoy sngemmTn: ST T T

(3)  OTE wiyEn: waH w4 g T EE:

4)  vermuTrEn: far e .

RARERIEE e, TR (Tone), SIATA: (Stress), T: (Rhythm) H-
(1) =R (P oetry) (2) S=<EFH (Prosody)

(3) =t (Phonetic) (4) AHATCHS: (Pragmatic)

HRASH! T fered eveifeafiaay fif o e 7 o1 2

(1) TRTHERAITER g T FIRweh 9 A

(2)  HRARrEaYEE sTeRTEegPIER gl W i

(3) T T nyfrERdRT SRE (MIL)

4) fe<tam yRdagEgae EEIHERW AR (Lingua Franca)

ThE HIYTReIT ST: WWW S (Groups) fomfol it | a THfer T T foRe

At | A fafumr wrorfiea: -

(1)  Sgefm: S () v wfefE d

(3)  HTUBRIST: @) faded wEE: 9 (Counselling)

Tl ST T e gl e o WIS (Restaurants) T Yeareed GaRe: 4y |
3T YIS AHIfARady &: Ievd: didaed: ?

(1) ©IF Afqerfaydn JREFeTq '

(2) SR URET: )

(3) STARRITEARAIaIHE YT Y T&fd: (To introduce)

(4) FHREATCHTERefermE: - fasr:

School of Learning) ¥ ST 7 WTo-wifed s o, srearafmimafman

(1) @I (Functionalist) -~  (2) H9EREWEN (Behaviourist)
(8) werHarRT (Cognitivist) (4) TafmFamEl (Interactionalist)

FUMT: THY: TH o HHd-
(2) TUIYT (Setting)

(1) fa9a: (Theme)
(3) FUER (Plot) (4) ST (Climax)
‘ J$S-24-11/ 1
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114.

115.

116.

117.

118.

119.

120.

= sifag Ffdwifa | qrEd oI B aF =%, Ui arterr STEIetE = wAfd | S wifafy. sem-
(1)  YfEeRITEEI (Role play) (2) *EHH (Drama)

(3) AfYTIRET (Acting class) (4) ﬁ‘cfv]q'x{ (Guidance)

TR T eRT YeerHeRaIrl: S e gfife =t Ao wEEns, SRS (Meny- _cards),
YU (Rail-tickets) ¥ A | &1 32 & B0 ohe] TAT |

(1) T @t el aened TR = o ST wE: wi

2) g ffer ST S wAf

(3) 1 TeSf A T B A STt M SreTaT .

(4) 1 DT T STEH SAeArd A

IS Ao ereifaray fh T Feiqui o 1 fi ?

(1) tagAfaifd: (Pausing the recording)

(2) @TEAI: (Speed of delivery)

(3) Tﬁ?{“ﬂ e (Gender of speakers)
(4) 33?{”11 @& (Number of speakers)

MRS agITiaRaTaTe: SeaTgsr fh 3o sﬁﬁf ?

(1) g syafa SrfsehREEreR: (Social Cohesmn) < Hadd

(2)  STIHFIT: FHEATY: T8 Fae:

(3) e o fi ety arcia:{

(4) TN, HHEU (Identity) HEpid: = I aﬁ%

wrar: T R TRIATeh I Tere ol (Receptive_. skill) Fd 2

(1) & weH = 2 FFETEI (3 T dEd (4) S99 UA =
Seyo] GHIeIS: elfe-

(1) A a1 qemEq fepeTq (Decodmg)

(2) SfaTERT STIHIH
3) Towae qeEsEe wm:

(4) eI AR T 9 sty -
A | AT e B mﬁ“ﬂ SR TRt e Fd -

A B

(a) EEITUNCHMTHT STEATa () SIS e TEgTTHR ST
(b)  emarah: () THESTH

() HAIR: (i) feifem, wfzfermrer:

(d) &% T T (iv) SRR 3teATde e ER fhad

1) @-0), (b)-(iv), (c)-(i), (d)-(i)

(2 @-(iv), (b)-(i), (o)-(ii), (d)-()

() (a)-(itd), (b)-(i), (c)-(i), (d)-(iv)

) @), ®)-@), (0)-(iv), (d)-(i)
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PART-V
LANGUAGE-II
SANSKRIT

(ﬁﬁh: TeEUTTE (Part-V) YA (0.9, 121-150 ) 3¢ &, afe o: AERT fgdrauma
(

Language-11) &901 o |

seiferfias et ufSaT WYT (121-128) fashourarentmivea: sfamad 3wt fora |

TrefepTe aeHifeh: ATH Teh: Saf: ST | Thal-w@ired: wg §: qramar: @ foedfa &1 | ada = =nim
forgq e FISAIYAd | e R whiee $e1: STeSr 1 qen: e gean K welE: e | 7 T o
Wzﬂ%m@ﬁ"fﬁz—

“r frare | wesst T erdl: ||

JohlearAYAhAa: smwfead |1

o7 Yiteh: Qe e Tl S |- 9. a1t oo SN ToEiel o Sufer: e & =
T ety YR | S SR %ﬁmmﬁmmwﬁmwﬁfﬁ@ml Gepauecd
WWWWWWW 1, T, THRASed wemiE | o el
STSRITT SIS HRTIET el = Lear | e,

ARSIl Hes e add | Wﬁvﬁgﬂﬁfﬂf il Iufam T | o gmgie: WS
mamlmWWM|mmwmmqw
o = FAM | S ST UHRETh: THEEY: g, SRACEHIRISTHE: i, TIRYged: T,
ﬁmﬁm@mﬁmﬁmwﬁﬁwm Giage: geq, fasfioomge: wa: = 3=
o favernfed 9 gvm | Wi AGEQV WK SEE WER | AReseaTe S awi o
afviar= af< |

121. THHIRE T TEien i 7 fafeat ?

(1) TR AL (2) FEEE o (3) ElESIE (4) A
122. - TR W &1 favfa: & 9 a=m awf&a?
(1) e favfe:, Sga=T ) g@aﬁ fawfa:, sga=™
(3) W faufe:, Twaey (4) s foufer:, foorerm
123, TV qEgfe: Sigel add ?
(1) v (2) e @) FoEEEE  (4) wS
124. shiol H9 o 3=: oved ?
1) T&= (2) A= 3) THHA (4) H:
Sanskrit-II 9 JSS-24-11/ 1
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125. .w“mﬂﬁﬂlmﬁaﬁwiﬂ'ﬂﬁl

(1) wwy (2) s (3) zsier CES
1, mﬁrﬂf@ﬁ'ﬂﬁ%wwr?fqa’qaﬁ?

M) g @ ® T W e
127. Wmﬁ T A ?

(1) s (2w (3) = 4) A
128. I 779 Sorrgeenfy afefarfy wf 2

(1) W 2) T (3) T (4) i

et Trarter ufeseat woer (129-135) RereheameTra: Sfead ST fod |

TP overe waty TRy e i | forqere WTSR: T TR ST e et
ARA | T I G, o, THaforeron, R, e St A A RO SR | €
Y, T, T, W T o | e T el T G o | e ST H, ey
ST | g T T THaTTT: T SqeE=y |

a?[:, _\'Wﬁqa:, E{'I'UITﬁ-[; THTUH, HRTH A - 3415 d: maﬁﬁ? efHepT: T=: W Td fafean: afg |
Ferea o T FeTaRaea sit: Sifi | WeERa: SHifarR T SRR er ¥, Sed: STHRAE:
TRl ST Fereret wfe: Wi | T W A el St S SefeRT: Sy Sihasead: wa

ST ST STeTR, T ey, sneAfeRs, Qe = ST Fee o 3 famisd
I YA S FEAUTII HEFaaEe, ¥ Ufoqe 39 390 | SNgfT Hiergil ST T Hew Jqd |

IR FAN ST St Siferd o | oid: YERAHT: Her e o famr srerty;
T WER FER ¥ YIS O |

129. wEYq: F: T GiEg: fE ?

(1) @) TEEREW () W (@) EeemeE
130. YT HicTF FE: WAL e Feid ? -
(1) ST (@ ¥ (3) smgTes (4)  HRET
131. Ieifafady ff g fave: o = st ? iy
(1) -mf 2) e (3) wgEm (4) oTEIRy
132. SEFAWW Figeh 7 a2
(1) w=m (2) T 3) feem 4) T
Sanskrit-II 10 JSS-24-11/1
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133.

134.

135.

136.

137.

138.

139.

140.

M e v Rt = wfma: @t 2
(1)  Tiorafeerer gt (2) TEhaEiEere T
(3) dfervmari fefear ==, (4) - =i

FTIYIE- T T g diufassE g% )
(1) soFR+qa () T+ A (3)  afy + qHwrE (4)  AURERE +

G S TS a4 ?
(1) gz (2) erifes: T 3)  Afedn (4) =R

auiifafady fo wree add o ST STTEET (Online) HHERTTCTEHM STHHERITCR, = STEATIH-STaHH
Iuedafd ?

(1) YrEAYESRY (2) YATEH (Railway ticket)

() T (4)  USTR (Padlet)

TETH- STeherT T e aTiedl | o1 2 : ’ “

(1) ﬁﬁ'—ﬂﬂ (Assignment) (2) , ﬁ‘m &M (Pen-pencil Test)
(3) UR@SHI (Project) (4) | RETSEf: (Class Presentation)

WITEATIAR QG Ja1T: - ™
(1) M (Realia) | (2) -—“EhIST: (Language games)
(3) HEAITHIYTH (Teaching aid) (4) TIS: (Text)

et (BvmemEy) yRae amwn fo Sadfag ad-
(1) EWEIET (Multilanguage education)

(2) UHMIHRIET (Monolingual education) .
(3) Terdtumi St fgenfomioen J

(4) AGWIETEIRE: SgHIeharers:

S W q | 2
(1) S o g e R (2) - oo faw s gt
(3) AR o grEWEn A (4) SR TR, sTaT vl 99

141. SFRISEHQENTEE: wa a2
() 157 (2) 14 T (3) 21wl @) 13 3w
Sanskrit-I1 11 15S-24-11/1
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142,

143.

144.

145.

146.

147.

afg . . fAfaey SHETIHR 3,
ﬂaﬁwjﬁw HehiifH, =7; wera: 31, €im (Email) fafad ﬁﬁ" =
(1) %ﬁaﬁt (Informal) (2) Arq=nfier: (Formal)

(3) %: (BUSil'IGSS) (4) AT (Correspondence)

ST ST ST e ST e e H T
(1) e serer, (2) e ST
() st st (4)  SRETET SR

T TR T st e e s’ R o Ao AT A 1T S P
Forreo st AT e o g ot 3 e | O S TR e FR] AR

(1) ey e guigy @) Qaﬁmwﬁiﬁﬁﬁm
(3)  foramror fergeivomef sreom (4) W@mﬁmwm

o gfeferd f wed 7 aiftd 2
(1) g2 g v
(2) e Tefa 7 Qooret: ST < Wt b
(3) Ao IWEESGRAE: Fofwgan: vate
(4) T Tadavmirreore wiFai s watae: wara

TR FeeEER -
(1) T Y ST S S
(2) fonfoua fore T femyea: o, oo e
(3) Tt JfeT st A v
(4) HAHEET T FEHTIHFHT ST smﬁfm

BE: T TRE: T, T e S WO At o A W - R wmel 35 5, 2
(1) =FEEREEH: (Behaviourists) (2) HIFEET (Cognitivist)
(3) WHEAEE! (Humanist) (4) wifeverEe: (Psychoanalyst)
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148. FNAEXY i o wref a7fi 2

149.

- 150.

| (3) W‘»(Science Fiction) 4

(a) Texifeman (Dyslexia) U we e sif
(b) ﬁw)ﬁ?m (Dysgraphia) Teh wrEershedy 21
(c) %@ﬁw (Dysgraphia) T q?ﬂam e
(d) fewdifern (Dyslexia) TH é@m @rﬁﬂ

(1) St (a) T A (2) %h—om (b) W& (d) T =i:
3) (a) T (b) 8 T W . @~ O @ 3T

ST | T s & fagrd A ?
(1) Ipfaerdfsharn: fasT: - T e @ T
(3) o . = P (ST T AT Wf

T T A g@m‘aﬂaﬁm ST mﬁﬁmw = firegd, FoA-
(@)~ e (Fable)
(4)‘\ ‘Qﬁ'laﬂi"\"[ (T;av elogue)

(1) whed Tl (Fantasy)

-000-
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